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Wlig AR R AR H
HEHAA  |EES S (AA) Bl (A) FRUEES \)

Bl H HE T S N KA m/n -E) Ji/ ME~ TR T n/n E2Z] s/ ME~ KA w/n
p 7.2 7.0 ~ 7.4 0/ 12 7.2 7.0 ~ 7.4] 0/ 12 7.2 6.9 ~ 7.3 0/ 12
DO (mg,1) 12 9.7 ~ 14| 0/ 12 12 9.4 ~ 14| 0/ 12 12 9.0 ~ 15 0/ 12
BOD (mg1) 0.6[ < 0.5 ~ 0.9 0/ 12 0.6 0.5 ~ 1.0l 0/ 12 0.6 0.5 ~ 0.9 0/ 12
BOD (F B 75%i) 0.6 0.7 0.6
coD (mg1) 1.4 0.5 ~ 3.5 0/ 12 1.6 0.9 ~ 3.7] 0/ 12 1.6 0.8 ~ 3.6 0/ 12

ERRREIEAE G [s S (mg,/1) 1] < 1~ 1 0/ 12 2 1~ 1f 0/ 12 5 1~ 34 1/ 12
RIB i RER (MPN,/100m1) 2. 2E03 2.2E02 ~ 7.9803[ 12/ 12 2. 7TE03 3.3E02 ~ 7.9E03[ 7/ 12 3. 703 7.9E01 ~ 2.2E04[ 4/ 12
n —~% 4 Ll T (mg1)

I Hx (g /1) 0.28 0.22 ~ 0.31] 6/ 6 0.70 0.39 ~ 1.4 6/ 6
B (mg,1) 0. 008 0.007 ~ 0.009| 6/ 6 0. 032 0.011 ~ 0.12| 6/ 6
A (mg1) 0.001| < 0.001 ~ 0.001] 0/ 4 0. 002 0.001 ~ 0.003| 0/ 4
HREIY A (mg/D| < 0.001 < 0.001 0/ 2 < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2 <004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2 < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2 < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2 <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2
FUT A (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
Ny Y (mg/1)| < 0.001 < 0.001 0/ 2 < 0.001 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 0. 20 0.17 ~ 0.23) 0/ 2 0. 28 0.22 ~ 0.31 0/ 2
AL (mg,/1) < 0.002 0/ 2 0. 004 0.003 ~ 0.004| 2/ 2
o (mg/1)| < 0.1 < 0.1 0/ 2 0.1 0.1~ 0.1 0/ 2
139 # (mg/ ]| < 0.02 < 0.02 0/ 2 <002 < 0.02 0/ 2
VACR=E VN (mg,/1)

RAEAEMEGRIER (7= —1 (mg/1)]| < 0.001 < 0.001 0/ 1 < 0.001 < 0.001 0/ 1
RNLT AT E R (mg/ 1] < 0.03 < 0.03 0/ 1 < 0,03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A% v o8l HE) (mg,1)
smrnrgu=/, (TPN) (ng,/1)
(mg/1)
(mg,/1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= v (mg,/1) < 0.001 0/ 2 < 0.001 0/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
LA (mg1) < 0.02 0/ 2 0.07 0.02 ~ 0.07| 0/ 2
vy (mg/1)
FEVEYY - (mg,/1)
% (mg,/'1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
T =T PEE H (mg,1)
DATHEE S Bx (mg,/1)
DI A AL b ) R (mg/1)
TOCH (mg,/1)
) () 2| < 1~ 8| 8/ 12 5 1~ 3812/ 12
BRAGE R (ms/m) 1.7 3.5 ~ 5.9/ 12/ 12 5.9 3.8 ~ 8.2 12/ 12
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 1] < 1~ 1 1/ 4 < 1 0/ 4
S A A KB 1 B B (1#,/100m1) 33 10 ~ 55 6/ 6 230 2~ 1200 6/ 6
WA A SR 3 A e (mg,/1) < 0.02 0/ 2 0. 05 0.02 ~ 0.05| 1/ 2
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CHEN SRR AR T AREI T
HEHA | RIS A) Sk OKE)IIHR) (A) i (REKHE) (A)

HEFH BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S St/ ME~ e R w/n
p 7.3 7.0 ~ 7.5 0/ 12 7.3 7.1~ 7.5 0/ 12 7.3 7.1 ~ 7.5 0/ 12
DO (mg,1) 11 9.3 ~ 13[ 0/ 12 11 9.1 ~ 13| 0/ 12 11 8.6 ~ 13[ 0/ 12
BOD (mg1) 0.6 0.5 ~ L1 0/ 12 0.7 < 0.5 ~ 14| 0/ 12 0.6[ < .5 ~ Lol 0/ 12
BOD (F B 75%i) 0.7 0.6 0.6
coD (mg1) 2.3 1.6 ~ 2.9 0/ 12 2.3 1.8 ~ 2.6] 0/ 4 2.3 1.8 ~ 3.1 0/ 12

ERRREIEAE G [s S (mg,1) 3 2 ~ 8| 0/ 12 3 1~ 10| 0/ 12 3 1~ 9| 0o/ 12
RIB i RER (MPN,/100m1) 1.3E03 2 ~ 1L7E04[ 9/ 12 1. TE03 TE02 ~ L7E04| 2/ 4 1. 6E03 1.5E01 ~ 1.9E03[ 4/ 12
n —~F AR (mg,/'1) ND 0/ 14 ND 0/ 14
I Hx (g /1) 0.46 0.36 ~ 0.68] 12/ 12 0.56 0.51 ~ 0.60] 1/ 4 0.48 0.38 ~ 0.57| 12/ 12
B (mg,1) 0.016 0.010 ~ 0.029| 12/ 12 0.019 0.014 ~ 0.022| 4/ 4 0.019 0.012 ~ 0.037| 12/ 12
A (g /1) 0. 004 0.002 ~ 0.007| 0/ 12 0. 003 0.002 ~ 0.004| 0/ 4 0. 004 0.002 ~ 0.007| 0/ 12
HREIY A (mg/D| < 0.001 < 0.001 0/ 4 < 0.001 < 0.001 0/ 4
BYT v (mg1) ND ND 0/ 12 ND ND 0/ 4
0 (mg,/1)| < 0.005 < 0.005 0/ 12[ < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 12
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 1 <004 < 0.01 0/ 1
(%3 (ng/1)| < 0.005 < 0.005 0/ 12| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 12
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 4 < 0.0005 <€0. 0005 0/ 4
TF KR (mg,/'1)

PCB (mg1) ND ND 0/ 1 ND ND 0/ 1
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2 < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2 <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2
FUT A (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
Ny Y (mg/1)| < 0.001 < 0.001 0/ 2 <000 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 0. 30 0.27 ~ 0.32| 0/ 4 0.35 0.30 ~ 10 0/ 4
AL (mg,/1) 0. 004 0.002 ~ 0.005| 3/ 4 0.004| < 0.002 ~ 0.005| 3/ 4
o (mg1) 0.1 0.1 ~ 0.1 0/ 4 0.1] < 0.1~ 0.1 0/ 4
139 # (mg,/1) 0.02 0.02 ~ 0.02| 0/ 4 0.02] < 0.02 ~ 0.02| 0/ 4
VAZR=2: VN (mg,/1)| < 0.006 < 0.006 0/ 1 < 0.006 < 0.006 0/ 1
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smunrdnr=, (TPN) (ng,/1)
(mg/1)
(mg,/1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
sap=tr7=zr (CNP) * (mg1) <0. 0005 0/ 2 <0. 0005 0/ 2
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
e (mg,/1)
vy (mg/1)
7 x ) — VHx (mg,/1) < 0.01 0/ 4 < 0.01 0/ 4
Hilx (mg,/'1) < 0.01 0/ 4 < 0.01 0/ 4
B (Ffatt) * (ng,/1) 0.03 4/ 4 0.03 4/ 4
v H Y (GERRE) = (mg,/1) < 0.02 0/ 4 < 0.02 0/ 4
VAP (ng,/1) < 0,02 0/ 4 < 0,02 0/ 4
T E =T R (mg/1) 0. 06 0.05 ~ 0.08) 3/ 12 0.06] < 0.05 ~ 0.06] 2/ 4 0.07) < 0.05 ~ 0.08) 3/ 12
DATHEE S Bx (mg,/1)

ZDHWIEA v b Y ERfE (mg,1) 0. 008 0.006 ~ 0.012| 4/ 4 0. 009 0.004 ~ 0.014| 4/ 4
TOCx* (mg1) 0.9 0.6 ~ 12|12/ 12 0.9 0.7 ~ 1.3 12/ 12
ol (%) 2 1~ 5[ 12/ 12 2 1~ 5[ 12/ 12 2 1~ 7|12/ 12
BRI Fx (ms/m)

ClAFr* (mg,/1) 3 2 ~ 6| 4/ 4 1 2~ 7| 4/ 4 1 2 ~ 6| 4/ 4
VA= Py FE] (ug/l)
S A A KB 1 B B (1#,/100m1) 1800 17 ~ 7900 12/ 12 1500 11~ 6000[ 4/ 4 500 11~ 4600 12/ 12
FEA A SR TS A (mg,/1)
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HEH A REE (AA) TR (A) 22N (A)

HEFH BEfE 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.3 7.0 ~ 7.6 0/ 12 7.3 7.0 ~ 7.7 0/ 12 7.2 7.0 ~ 7.6 0/ 12
DO (mg,1) 11 9.0 ~ 13[ 0/ 12 11 8.9 ~ 14| 0/ 12 11 9.0 ~ 13[ 0/ 12
BOD (mg1) .5 < 0.5 ~ 0.7 0/ 12 0.5 < 0.5 ~ 0.6] 0/ 12 0.7 < 0.5 ~ L9l 0/ 12
BOD (F B 75%i) 0.5 0.5 0.8
coD (mg1) 1.5 0.7 ~ 2.8 0/ 12 1.5 < 0.5 ~ 3.2 0/ 12 1.6 0.7 ~ 2.6] 0/ 12

ERRREIEAE G [s S (mg,/1) 3| < 1~ 1) 0/ 12 2| < 1~ 5 0/ 12 2| < 1~ 8| 0/ 12
RIB i RER (MPN,/100m1) 2. 403 2.3E02 ~ 7.9803[ 12/ 12 2. 2803 1.9E01 ~ 7.9E03[ 6/ 12 2. 4E03 3.3E01 ~ 1.3E04[ 4/ 12
n —~ %l R (mg,/'1)

R Fx (mg,/1) 0.28 0.21 ~ 0.38] 4/ 4 0.40 0.36 ~ 0.43| 4/ 4
B (mg,/1) 0.011] < 0.003 ~ 0.032| 3/ 4 0.013 0.008 ~ 0.019] 4/ 4
A (mg1) 0. 005 0.002 ~ 0.011] 0/ 4 0.003] < 0.001 ~ 0.008] 0/ 4
HREIY A (mg/1)]| < 0.001 < 0.001 0/ 2 < 0.001 < 0.001 0/ 2
LTV (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2 <004 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2 < 0.0005 <0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
CrunAsy (mg/ 1| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
DAk B (mg/1)| < 0.0002 <€0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2 <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1)| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
P2 (mg/1)| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
FhI/unxFLo (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Y/unra~y (mg/1)| < 0.0002 <0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
Ny Y (mg/1)| < 0.001 < 0.001 0/ 2 <000 < 0.001 0/ 2
Ly (mg/1)| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0.33 0.33 0/ 2
Al 2 (mg,/1) 0.002| < 0.002 ~ 0.002| 1/ 2
5 (mg1) 0.1 < 0.1 ~ 0.1 0/ 2 0.1] < 0.1 ~ 0.1] 0/ 2| < 0.1 < 0.1 0/ 2
139 # (mg/ ]| < 0.02 < 0.02 0o/ 2| < 0.02 < 0.02 0/ 2[< o002 < 0.02 0/ 2
VACR=E VN (mg,/1)

RAEAEMEGRIER (7= —1 (mg/1)]| < 0.001 < 0.001 0/ 1 < 0.001 < 0.001 0/ 1
RNLT AT E R (mg/ 1] < 0.03 < 0.03 0/ 1 < 0,03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
¥ v () (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg,/1) < 0.001 0/ 2 < 0.001 0/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 x ) — Vi (mg,/1)
% (mg,/'1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
(mg/1)
(mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
ol (%) 1| < 1~ 13[ 6/ 12 2| < 1~ 8| 8/ 12 3 1~ 1f12/ 12
BRAGE R (ms/m) 1.7 3.0 ~ 6.5 12/ 12 1.2 2.9 ~ 5.5/ 12/ 12 1.6 2.8 ~ 6.0[ 12/ 12
ClAArx* (mg,/'1)
JBBET f)Lax (ug/1) 1] < 1~ 1 1/ 4
S A A KB 1 B B (f#,100m1)
FEA A SR TS A (mg,/1)
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HE H R | A)I & T (A) A LRI (A) S (A)

HEFH BEfE S Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.4 1~ 7.6| 0/ 6 7.6 7.4 ~ 7.9l 0/ 6 7.3 7.2 ~ 7.4 0/ 6
DO (mg,1) 11 9.6 ~ 13 0/ 6 11 9.6 ~ 14| 0/ 6 11 9.8 ~ 13 0/ 6
BOD (mg1) 0.7 < 5~ Lol 0/ 6 0.6 0.5 ~ 0.8 0/ 6 0.6 0.5 ~ 0.6 0/ 6
BOD (F B 75%i) 0.7 0.8 0.6
coD (mg1) Lo < 0.5 ~ 15| 0/ 6 1.0 0.6 ~ 1.3 0/ 6 0.8 0.6 ~ 0.9 0/ 6

ATREREEEA GU)ID [S S (mg/1) 1f < 1~ 1l o/ 6 1 1~ 1l 0o/ 6 1 1~ 2l 0/ 6
RIB i RER (MPN,/100m1) 2. 7E03 3.3E02 ~ 7.9803[ 3/ 6 3. 6E03 3.3E02 ~ 1.3E04| 4/ 6 2. 1E03 1. 7TE02 ~ 7.9803[ 2/ 6
n —~ %l R (mg,/'1)

R Fx (mg1) 0.46 0.39 ~ 0.54] 4/ 4 0.61 0.58 ~ 0.64] 4/ 4 0. 38 0.32 ~ 0.42| 4/ 4
B (mg,1) 0.007 0.006 ~ 0.008] 4/ 4 0.014 0.012 ~ 0.016] 4/ 4 0. 005 0.003 ~ 0.007| 2/ 4
A (g /1) 0.001| < 0.001 ~ 0.002| 0/ 4 0. 002 0.001 ~ 0.002| 0/ 4 0.001 0.001 ~ 0.002| 0/ 4
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2
LTV (mg1) ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
Al 7 7 2 (mg,/1) < 0. 01 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
HKER (mg,/1)
TF KR (mg,/'1)
PCB (mg1)
vrunAsy (mg,/1) < 0.002 < 0.002 0/ 2
DAk B (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg,/1) < 0.004 < 0.001 0/ 2

e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg1) < 0.002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <0. 0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
NPy (mg1)
L (mg/1)
T ARTEEE R R OV AR R R (mg,/1)
R 4 (mg/1)
5 (mg1) 0.1 0.1 ~ 0.1 0/ 2
139 # (mg,/1) <002 < 0.02 0/ 2
VAR=F: VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg,/1)| < 0.001 < 0.001 0/ 1f < 0.001 < 0.001 0/ 1| < 0.001 < 0.001 0/ 1
RNLT AT E R (mg/ 1] < 0.03 < 0.03 0/ 1] < 0.03 < 0.03 o/ 1f <  0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Hike= 1% /) v— (mg,/1) <0. 0002 0/ 1
Tvspmk FYr (ug/1) < 0.04 0/ 1
1, A=VF x4 (mg,/1) < 0.005 0/ 1
ER (mg1) < 0.02 0/ 1
vy (mg,/1) <0. 0002 0/ 1
7z ) — V% (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
(mg/1)
(mg,/1)
ZOMIEA F R CEERED % (mg,/1)
TOCH (mg,/1)
i () 1| < 1~ il 1/ 6 1 1l 2/ 6 < 1 0/ 6
TERUR I R (ms/m) 3.3 2.5 ~ 1.0l 6/ 6 6.2 5.3 7.7 6/ 6 1.1 3.3 ~ 5.0 6/ 6
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
FEA A SR TS A (mg,/1)
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HE H R | A)I & T (©) A LRI (A) EESIERS (A)

HEFH BEfE 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.4 7.0 ~ 7.6 0/ 12 7.6 7.2 ~ 8.3 0/ 6 7.5 1~ 8.2 0/ 12
DO (mg,1) 10 8.2 ~ 12[ 0/ 12 11 9.7 ~ 14| 0/ 6 9.9 8.0 ~ 13[ 0/ 12
BOD (mg1) 1.8 0.9 ~ 3.0 0/ 12 0.6 < 0.5 ~ 0.7 0/ 6 0.7 5~ L1 0/ 12
BOD (F B 75%i) 2.0 0.6 0.8
coD (mg1) 3.4 2.1 ~ 5.3 0/ 12 1.3 1.1~ 1.6] 0/ 6 2.5 1.8 ~ 3.0l 0/ 12

ERRREIEAE G [s S (mg,1) 1 1~ 0] o/ 12 1] < 1~ 1l 0/ 6 2 1~ 6| 0/ 12
RIB i RER (MPN,/100m1) 6. 7E03 3.3E02 ~ 2.4E04| 3/ 6 1. 003 7.8E01 ~ 3.3E03[ 4/ 12
n —~ %l R (mg,/'1)

I Hx (g /1) 1.0 0.76 ~ 2| 1/ 4 0. 49 0.42 ~ 0.60] 1/ 4 0.54 0.50 ~ 0.65| 6/ 6
B (mg,1) 0. 035 0.028 ~ 0.055| 4/ 4 0.015 0.011 ~ 0.020] 4/ 4 0.013 0.006 ~ 0.019| 6/ 6
A (g /1) 0. 007 0.001 ~ 0.012| 0/ 4 0.001| < 0.001 ~ 0.001| 0/ 4
R A (mg,/1)| < 0.001 < 0.001 0/ 2[ < 0.001 < 0.001 0/ 2
LTV (mg1) ND ND 0/ 2 ND ND 0/ 2
ity (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
Al 7 7 2 (mg/1)| < 0. 01 < 0.04 0/ 2f< 0.04 < 0.04 0/ 2
(%3 (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
BYAR=F ¥ % (mg,/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
DAk B (mg/1)| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <0.0004 0/ 2| < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2[ < 0.002 < 0.002 0/ 2
VA—1, 2—V/uaxFL (mg,/1)| < 0.004 < 0.004 0/ 2| < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 o/ 2| < 0.002 < 0.002 0/ 2
FhrIrmREFLY (mg,/1)| < 0.0005 <0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 2
1, 3—Y/unra~y (ng/1) < 0.0002 <0.0002 0/ 2
FUT A (mg,/1) < 0.0006 <0.0006 0/ 2
A (mg1) < 0.0003 <€0. 0003 0/ 2
FASRYHNT (mg,/1) < 0.002 < 0.002 0/ 2
Ny Y (mg/1)| < 0.001 < 0.001 o/ 2| < o0.001 < 0.001 0/ 2
L (mg,/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
A% 3R R O R A 2 R (mg,/1) 0. 43 0.33 ~ 0.52[ 0/ 2
Al 2 (mg,/1) 0.019 0.005 ~ 0.033 2/ 2
5 (mg1) 0.1 0.1~ 0.1 0/ 2 0.1 < 0.1 ~ 0.1] 0/ 2
139 # (mg,/1) 0.03 0.02 ~ 0.03) 0/ 2| < 0.02 < 0.02 0/ 2
VAR=F: VN (mg,/1)

KA EGEHHA | 7=/ —1 (ng/1)| < 0.001 < 0.001 0/ 1f < 0.001 < 0.001 0/ 1
RV AT VT e R (mg/1)| < 0. 03 < 0.03 0/ 1f < 0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg1) 0.003 0.002 ~ 0.004[ 2/ 2
EYTT (mg/1)
TUFEY (mg1)
HLE =L ) v — (mg,/1) <0. 0002 0/ 1 <0.0002 0/ 1
B i (ug/1) < 0.04 0/ 1 < 0.04 0/ 1
1, A=VF x4 (mg,/1) < 0.005 0/ 1 < 0.005 0/ 1
ER (mg1) < 0.02 0/ 1 < 0,02 0/ 1
vy (mg,/1) <0. 0002 0/ 1 <0.0002 0/ 1
7 x ) — VHx (mg,/1) < 0.01 0/ 2
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
(mg/1)
(mg,/1)
ZOMIEA AR CEEREY Lk (mg,/1)
TOCH (mg,/1)
ol (%) 1] < 1~ 1| 2/ 6 2 1~ 1| 7/ 12
BRAGE R (ms/m) 9.1 3.9 ~ 15 12/ 12 3.6 3.0 ~ 1.5 6/ 6 5.1 1.3 ~ 5.7 12/ 12
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 3 1~ 71 4/ 6
S A A KB 1 B B (f#,100m1)
WA A SR 3 A e (mg,/1) 0.04 0.02 ~ 0.06) 2/ 2
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HEHA R K AR (A) A LRI (©) =i (A)

HEFH BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.5 7.1 ~ 8.0l 0/ 12 7.4 7.2 ~ 7.6] 0/ 12 7.4 7.2 ~ 7.6| 0/ 6
DO (mg,1) 10 8.1 ~ 14| 0/ 12 10 8.0 ~ 13| 0/ 12 12 9.8 ~ 150 0/ 6
BOD (mg1) 0.7 < 0.5 ~ L4 0/ 12 2.2 1.1~ 3.8] 0/ 12 0.6 0.5 ~ 0.8 0/ 6
BOD (F B 75%i) 0.9 2.5 0.7
coD (mg1) 2.3 1.8 ~ 3.3 0/ 12 5.7 3.4 ~ 8.8 0/ 12 1.3 0.9 ~ 1.8 0/ 6

ERRREIEAE G [s S (mg,/1) 2| < 1~ 6| 0/ 12 1f < 1~ 7| 0/ 12 1 1~ 2l 0/ 6
ORI B RE R (MPN,100m1) 9. 1E03 3. 3602 ~ 3.5804] 11/ 12 4. 3E03 4. 9802 ~ 1.3804] 3/ 6
n —~% 4 Ll T (mg1)

I Hx (g /1) 0.65 0.55 ~ 0.81] 4/ 4 0.76 0.72 ~ 0.83] 1/ 4 0.55 0.48 ~ 0.69] 4/ 4
B (mg,1) 0.027 0.019 ~ 0.037| 4/ 4 0. 032 0.023 ~ 0.039| 4/ 4 0.016 0.014 ~ 0.018) 4/ 4
A (g /1) 0.002| < 0.001 ~ 0.002| 0/ 4 0. 004 0.001 ~ 0.006] 0/ 4 0. 002 0.001 ~ 0.003| 0/ 4
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2
4l (mg,/1) < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
AN 7 (mg1) < 0. 04 < 0.04 0/ 2
it (mg,/1) < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
vrunAsy (mg,/1) < 0.002 < 0.002 0/ 2
DAk B (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg,/1) < 0.004 < 0.001 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg1) < 0.002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <0. 0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2
FUT A (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
NPy (mg1) < 0,001 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0. 37 0.34 ~ 0.39] 0/ 2
Al 2 (mg,/1) 0. 007 0.005 ~ 0.008] 2/ 2
5 (mg1) 0.1] < 0.1 ~ 0.1 0/ 2
139 # g/ D] < 0.02 < 0.02 0/ 2 0. 06 0.03 ~ 0.08] 0/ 2
VACR=E VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg,/1)| < 0.001 < 0.001 0/ 1f < 0.001 < 0.001 0/ 1| < 0.001 < 0.001 0/ 1
RNLT AT E R (mg/ 1] < 0.03 < 0.03 o/ 1f < 0.03 < 0.03 o/ 1f <  0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A% v o8l HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg1) 0.001] < 0.001 ~ 0.001[ 1/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 x ) —/VHix (mg1) 0.01] < 0.01 ~ 0.01f 1/ 2
ix (mg,/1) < 0.01 0/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
(mg/1)
(mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) () 1f < 1~ 2| 8/ 12 1 1~ 1l 2/ 6
BRAGE R (ms/m) 5.1 3.7 ~ 5.7 12/ 12 13 6.5 ~ 20 12/ 12 3.9 3.4 ~ 1.9/ 6/ 6
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S AT R i B Ao (f#,/100m1) 170 110 ~ 1000[ 6/ 6
WA A SR 3 A e (mg1) 0.09] < 0.02 ~ 0.09) 1/ 2
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HEHA A (B) SRR (B) 2t [©)
Bl H HE T S s/ ME~ KA n/n 23] Ji/ ME~ TR T n/n S N K w/n

p 7.0 6.7 ~ 7.3 0/ 12 7.9 7.2 ~ 8.5 0/ 12 7.8 7.4 ~ 8.6 1/ 12
DO (mg,1) 10 7.9 ~ 13[ 0/ 12 11 8.3 ~ 15| 0/ 12 11 8.1 ~ 14| 0/ 12
BOD (mg1) 0.9 < 0.5 ~ 1.3 0/ 12 1.0 0.6 ~ 1.3] 0/ 12 1.1 0.7 ~ 15| 0/ 12
BOD (F B 75%i) 1.1 1.1 1.2
coD (mg1) 3.5 L1~ 6.6/ 0/ 12 1.0 2.6 ~ 5.5 0/ 12 1.0 2.3 ~ 6.2 0/ 12

ERRREIEAE G [s S (mg,/1) 4] < 1~ 1| o/ 12 5 1~ 15| 0/ 12 5 1~ 1) 0/ 12
RIB i RER (MPN,/100m1) 1. 304 1. TE03 ~ 5.4804[ 7/ 12 2. 7E04 7.9E02 ~ 1.6E05| 9/ 12
n —~ %l R (mg,/'1)

R Fx (mg,/1) 1.0 0.65 ~ 14 4/ 4 1.3 0.76 ~ L8| 4/ 4
B (mg,1) 0. 090 0.074 ~ 0.13] 1/ 4 0. 095 0.076 ~ 0.11) 4/ 4
A (g /1) 0. 005 0.001 ~ 0.009] 0/ 4 0. 006 0.001 ~ 0.009] 0/ 4
HEIT A (mg/1)
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
4l (mg,/1) < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
Al 7 7 2 (mg,/1) < 0. 04 < 0.04 0/ 2| < 0.04 < 0.04 0/ 2
Tt (mg,/1) < 0.005 < 0.005 0/ 2
KK (mg/1)
TF KR (mg,/'1)
PCB (mg1)
CrunAsy (mg/'1) <0002 < 0.002 0/ 2
DAk B (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1) < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1) < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) 0. 0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1) < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1) < 0.002 < 0.002 o/ 2/ < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1) < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg,/1) < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT7Ah (mg/1) < 0.0006 <€0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
DA (mg1) < 0.0003 <0.0003 o/ 2| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
NPy (mg1) < 0.001 < 0.001 0/ 2
L (mg,/'1) < 0.002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0.73 0.66 ~ 0.80[ 0/ 2
Al 2 (mg,/1) 0.012 0.010 ~ 0.014| 2/ 2
5 (mg1) 0.1 0.1 ~ 0.1 0/ 2 0.1 0.1 ~ 0.1 0/ 2
139 # (mg,/1) 0.03 0.02 ~ 0.04] 0/ 2 0.03 0.02 ~ 0.03) 0/ 2
VACR=E VN (mg,/1)

RAEAEMEGRIER (7= —1 (mg,/1) < 0.001 < 0.001 0/ 1f < o.001 < 0.001 0/ 1
RNV LT VT E R (mg1) < 0.03 < 0.03 0/ 1] < 0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1) < 0.004 0/ 1
1, 2—Y/ansasy (mg/1) < 0.006 0/ 1
p—YrmuRy¥y (mg1) < 0.03 0/ 1
A Y FYFA (mg,/'1) <0. 0008 0/ 1
HAT V) (mg,/1) <0. 0005 0/ 1
Zxz=FnFA+r (MEP) (mg,/1) <0.0003 0/ 1
AV TaFET v (mg1) < 0.004 0/ 1
Ay (KRR (mg/1) < 0.004 0/ 1
smrngnr=,L (TPN) (mg,/1) < 0. 004 0/ 1
T IR (mg/1) <0.0008 0/ 1
EPN (mg1) <€0. 0006 0/ 1
Y/ uuRA (DDVP) (mg,/1) < 0.001 0/ 1

HEECHIH Zx)7HNT (BPMC) (mg/1) < 0.002 0/ 1
A 7Rk A (1BP) (mg,/1) <0. 0008 0/ 1
san=tr7=xr (CNP) * (mg1) <€0. 0005 0/ 1
hroe (mg,/'1) < 0.06 0/ 1
FoLy (mg,/1) < 0.04 0/ 1
THNET T F~F L (mg,/'1) < 0.006 0/ 1
= bk (mg1) 0.001 0.001 ~ 0.001[ 1/ 2
EYTT (mg,/'1) < 0.007 0/ 1
TUFEY (mg1) <€0. 0002 0/ 1
HLE =L ) v — (mg/'1) <0.0002 0/ 1 <0. 0002 0/ 1
B i (ug/1) < 0.04 0/ 1 < 0.04 0/ 1
1, A=VF x4 (mg,/1) < 0.005 0/ 1 < 0.005 0/ 1
ER (mg1) 0. 06 0/ 1 0.04 0/ 1
P (mg,/1) <0.0002 0/ 1 <0. 0002 0/ 1
FEVEYY - (mg,/1)

% (mg,/'1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
(mg/1)
(mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) ()
BRAGE R (ms/m) 1.2 2.3 ~ 5.5/ 12/ 12 12 8.0 ~ 17| 12/ 12
ClAArx* (mg,/'1)
JHB7 fbax (ug/l)
S AT R i B Ao (f#,/100m1) 2000 160 ~ 8000[ 6/ 6
WA A SR 3 A e (mg,/1) 0. 06 0.05 ~ 0.06) 2/ 2
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HE H R | A)I & T (B) HURIE (B) KB [©)

Bl H HE T S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n SEE) N K w/n
p 7.8 7.2 ~ 8.5 0/ 12 7.3 6.9 ~ 7.8] 0/ 12 7.7 7.2 ~ 8.9 2/ 24
DO (mg,1) 11 8.0 ~ 14| 0/ 12 11 8.5 ~ 14| 0/ 12 10 8.6 ~ 14 0/ 24
BOD (mg1) 1.3 0.9 ~ 2.0 0/ 12 1.6 1.1~ 2.4 0/ 12 1.2 0.5 ~ 2.4 0/ 24
BOD (F B 75%i) 1.4 1.6 1.4
coD (mg1) 3.2 1.8 ~ 5.1 0/ 12 3.5 1.2 ~ 5.6 0/ 12 3.2 2.4 ~ 5.2| 0/ 12

ERRREIEAE G [s S (mg,1) 5 1~ 15 0/ 12 1 1~ 15| 0/ 12 1 1~ 9| 0/ 24
RIB i RER (MPN,/100m1) 5. 2804 2.4E05[ 11/ 12 8. 8E04 1. 2804 ~ 3.5E05( 12/ 12
n —~F Y Ul R (mg,/1) ND 0/ 4
I Hx (mg1) 3.1 2.6 ~ 3.7 4/ 4 2.0 1.5 ~ 2.6] 1/ 4 2.6 1.4~ 5.8/ 12/ 12
B (mg,1) 0. 096 0.072 ~ 0.11) 4/ 4 0. 089 0.055 ~ 0.12| 1/ 4 0.11 0.043 ~ 0.25| 12/ 12
A (mg1) 0. 006 0.001 ~ 0.011] 0/ 4 0.014 0.001 ~ 0.040| 0/ 4 0.014 0.004 ~ 0.031] 0/ 12
HREIY A (mg/'1) < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2[< o001 < 0.04 0o/ 2[< 004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 6
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 4f < 0.002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2| < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2[ < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/D| < 0.004 < 0.004 0/ 2| < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2[ < 0,002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
Ny Y (mg/ 1] < 0.00 < 0.001 0/ 2 < 0.001 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 2.1 1.5 ~ 2.6 0/ 2 2.3 1.2 ~ 1.7 0/ 4
AL (mg,/1) 0.016 0.015 ~ 0.017| 2/ 2
o (mg/1)| < 0.1 < 0.1 0/ 2 0.1 0.1~ 0.1 0/ 4
139 # g/ D] < 0.02 < 0.02 0/ 2 0.02 0.02 ~ 0.02| 0/ 4
VAR=F: VN (mg,/1)
KA EGEHHA | 7=/ —1 (ng/1)| < 0.001 < 0.001 0/ 1f < 0.001 < 0.001 0/ 1
RV AT VT e R (mg/1)| < 0. 03 < 0.03 0/ 1f < 0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrnrgu=/, (TPN) (ng,/1)
(mg/1)
(mg,/1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg1) 0.001 0.001 ~ 0.001[ 1/ 2
EYTT (mg/1)
TUFEY (mg1)
HLE =L ) v — (mg/'1) <0. 0002 0/ 1 <0.0002 0/ 1
B i (ug/1) < 0.04 0/ 1 < 0.04 0/ 1
1, A=VF x4 (mg/'1) < 0.005 0/ 1 < 0.005 0/ 1
ER (mg1) 0.08 0/ 1 0.18 0/ 1
vy (mg,/1) <0. 0002 0/ 1 <0.0002 0/ 1
7 x ) — Vi (mg,/1) < 0.01 0/ 4
Hilx (mg,/'1) < 0.01 0/ 2 < 0.01 0/ 4
B (ARAE) * (mg,/1) 0. 06 0.05 ~ 0.07| 4/ 4
v H Y (GERRE) = (mg/1) < 0.02 0/ 4
VAP (mg,/1) < 0.02 0/ 4
T =T PEE H (mg,1)
DATHEE S Bx (mg,/1)
DI A AL b ) R (mg/1)
TOCH (mg,/1)
ol (%) 5 1~ 19|12/ 12 2 1~ 5[ 24/ 24
BRAGE R (ms/m) 19 11 ~ 32[12/ 12 13 8.6 ~ 2112/ 12
ClAArx* (mg,/'1)
JHB7 fbax (ug/l)
S A A KB 1 B B (1#,/100m1) 4200 1500 ~ 5400 4/ 4
F& A A L I (mg1) 0. 10 0.06 ~ 0.13| 2/ 2
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HEHR S (AA) HES L (AA) 1A i (AA)

HEFH BEfE 22 Ji /M~ g KA m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R m/n
p 7.2 7.1 ~ 7.4 0/ 6 7.5 7.1~ 7.8] 0/ 4 7.4 7.1 ~ 7.8] 0/ 12
DO (mg,/1) 11 9.4 ~ 13 0/ 6 9.7 8.6 ~ 1| 0/ 4 10 8.9 ~ 13[ 0/ 12
BOD (mg1) 0.7 < 0.5 ~ L4 1/ 6 0.6 0.5 ~ 0.8] 0/ 4 0.6[ < 0.5 ~ 0.9 0/ 12
BOD (F B 2 75%() 0.6 0.6 0.6
COD (mg,/1) 1.5] < 0.5 ~ 4.8 0/ 6 1.4 0.7 ~ 1.9 0/ 4 1.5 0.5 ~ 3.7 0/ 12

ATREREEEA GU)ID [S S (mg,1) 2| < 1~ 71 0/ 6 1 1~ 1 o/ 4 3| < 1~ 1| o/ 12
NS (MPN,/100m1) 1. 0E04 1. 1E02 ~ 5.4E04) 6/ 6 3. 5E03 3.3E01 ~ 1304 2/ 4 8. 7TE03 1.9E02 ~ 3.5E04f 12/ 12
n —~F Y Ul R (mg,/1)

I Hx (mg1) 0.27 0.15 ~ 0.44| 4/ 4 0.26 0.17 ~ 0.33] 1/ 4 0.49 0.26 ~ 0.72| 4/ 4

N (mg,/1) 0.012] < 0.003 ~ 0.035| 3/ 4 0.007 0.003 ~ 0.011| 3/ 4 0.016) < 0.003 ~ 0.044| 3/ 4

A (mg,/1) 0.002| < 0.001 ~ 0.003| 0/ 4 0.002| < 0.001 ~ 0.004| 0/ 4

HEIT A (mg,/1)

BTV (mg1)

§ (mg/1)| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2

AP (mg,/1)

Tt (mg/1)]| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2

HKER (mg,/1)

TF KR (mg,/'1)

PCB (mg1)

D A=2=F 8 (mg,/'1) < 0.002 < 0.002 0/ 2

DUSiAL R (mg,/1) < 0.0002 <0. 0002 0/ 2

1, 2—Ys/npxyy (mg,/1) < 0.0004 <€0.0004 0/ 2

1, 1-YZpupxzFL v (mg,/1) < 0,002 < 0.002 0/ 2

VA—1, 2—V/uaxFL (mg/1) < 0.004 < 0.004 0/ 2
e H 1, 1, 1—h)yppxzyy (mg,/1) < 0.0005 <0. 0005 0/ 2

1, 1, 2— kY Zpo=zgy (mg,/1) < 0.0006 <0. 0006 0/ 2

F)smBaTzFLr (mg1) <0002 < 0.002 0/ 2

FhI/unxFLo (mg,/1) < 0.0005 <0. 0005 0/ 2

1, 3—Y/unra~y (mg,/1)| < 0.0002 <0. 0002 0/ 2 < 0.0002 <0.0002 0/ 2

FUT N (mg/1)| < 0.0006 <0. 0006 0/ 2 < 0.0006 <0. 0006 0/ 2

ey (mg/1)| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0.0003 0/ 2

FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2 < 0.002 < 0.002 0/ 2

NPy (mg1)

L (mg,/1)

A 28 R % OV R A 28 (mg,/1)

R 4 (mg/1)

SoFk (mg,/1)

129 # (mg/1)

VAR=F: VN (mg,/1)

RAEAEMEGRIER (7= —1 (mg/1)]| < 0.001 < 0.001 0/ 1 < 0.001 < 0.001 0/ 1
RNLT AT E R (mg/1)| < 0.03 < 0.03 0/ 1 < 0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
FIUA—1, 2—V/nRrTFL (mg,/1)

1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg/1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
Y uLRA (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
HLE =L ) v — (mg,/1) <0. 0002 0/ 1
Tvspmk FYr (ug/1) < 0.04 0/ 1
1, A=VF x4 (mg,/1) < 0.005 0/ 1
ER (mg1) < 0.02 0/ 1
vy (mg,/1) <0. 0002 0/ 1
7z ) — V% (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
ol (%) 7| < 1~ 8| 2/ 6 9| < 1~ 18) 14/ 12
BRAGEE (ms/m) 5.7 3.1~ 9.9 6/ 6 3.8 3.0 ~ 1.4 1/ 4 1.4 3.2 ~ 5.5/ 12/ 12
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 2 1~ 2| 3/ 4
S A A KB 1 B B (f#,100m1)
A A FE TS A (mg,/1)
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I E A | RE A AT (AA) i (AA) RS 4 A (AA)

HEFH HE A 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R w/n
p 7.4 7.0 ~ 7.8] 0/ 6 7.2 7.0 ~ 7.4 0/ 6 7.3 7.1 ~ 7.5 0/ 4
DO (mg,/1) 11 8.5 ~ [ o/ 6 10 8.7 ~ 13| 0/ 6 9.3 8.6 ~ 0l o/ 4
BOD (mg1) 0.5[ < 0.5 ~ 0.6 0/ 6 0.5 0.5 ~ 0.5 0/ 6 0.5 0.5 ~ 0.5 0/ 4
BOD (F B 2 75%() 0.5 < 0.5 0.5
COD (mg,/1) 1.3 0.7 ~ 2.0 0/ 6 1.2 0.6 ~ 2.00 0/ 6 1.6 1.2 ~ 1.9 0/ 4

ATREREEEA GU)ID [S S (mg/1) 1f < 1~ 31 0/ 6 1 1~ 2[ 0/ 6 1 1~ 1l 0/ 4
NS (MPN,/100m1) 1. 403 1. 4E02 ~ 1.9803[ 6/ 6 2. 6E03 1. 3802 ~ 1L1E04| 6/ 6 6. 9E03 6. 1500 ~ 2.4E04[ 2/ 4
n —~F Y Ul R (mg,/1)

I Hx (mg1) 0.57 0.42 ~ 0.69] 4/ 4 0. 48 0.36 ~ 0.59] 1/ 4 0.16 0.12 ~ 0.22| 4/ 4
N (mg,1) 0. 009 0.007 ~ 0.013| 4/ 4 0.011 0.009 ~ 0.016] 4/ 4 0.011 0.003 ~ 0.018] 3/ 4
A (mg,/1) 0.003] < 0.001 ~ 0.004| 0/ 4 0. 004 0.001 ~ 0.007| 0/ 4
HEIT A (mg,/1)
BTV (mg,/1)
ity (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
AN 7 (mg1) < 0,04 < 0.04 0/ 2
(%3 (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
HKER (mg,/1)
TF KR (mg,/'1)
PCB (mg1)
vranrH (mg/ 1| < 0.002 < 0.002 0/ 2
DUSiAL R (mg/1)| < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2
YA—1, 2—Y/uunxFLv (mg/1)| < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1)| < 0.0005 <0. 0005 0/ 2
1, 1, 2— kY Zpo=zgy (mg/1)| < 0.0006 <0. 0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 0/ 2
FhI/unxFLo (mg/1)| < 0.0005 <0. 0005 0/ 2
1, 3—Y/unra~y (mg/1)| < 0.0002 <0. 0002 0/ 2
FUI A (mg/1)| < 0.0006 <0. 0006 0/ 2
ey (mg/1)| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2
NPy (mg1)
L (mg,/1)
T ARTEEE R R OV AR R R (mg,/1)
R 4 (mg/1)
SoFk (mg,/1)
129 # (mg/1)
VAR=F: VN (mg,/1)

RAEAEMEGRIER (7= —1 (mg/1)] < 0.001 < 0.001 0/ 1] < 0.001 < 0.001 0/ 1
RV AT VT e R (mg/1)| < 0. 03 < 0.03 0/ 1] < 0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
FIUA—1, 2—V/nRrTFL (mg,/1)

1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 = ) — Kk (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
i () 3| < 1~ 3l 1/ 6 2 1~ 2l 2/ 6
BRAGEE (ms/m) 3.9 2.9 ~ 5.0 6/ 6 3.3 2.3 ~ 1.4 6/ 6
ClAArx* (mg,/'1)
JBBET f)Lax (ug/1) 1 1~ 1| 3/ 4
S A A KB 1 B B (f#,100m1)
A A FE TS A (mg,/1)
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HEs A [ S (AA) LS (A)

BEEH HE A Ji /M~ g KA n/n -5 s/ IME~ IR m/n 22 St/ ME~ e R m/n
p 7.4 7.1 ~ 7.5 0/ 4 7.6 7.1~ 8.0 0/ 4
DO (mg,/'1) 9.0 8.5 ~ 100 0/ 4 9.1 8.5 ~ 9.8 0/ 4
BOD (mg,/1) 0.7| < 0.5 ~ L.of o/ 4 0.8 0.5 ~ L2f 1/ 4
BOD (F Bt 75%fiE) 0.7 0.7
COD (mg,/1) 1.8 1.4 ~ 2.2 0/ 4 2.2 1.6 ~ 3.6] 0/ 4

ATREREEEA GU)ID [S S (mg,1) 1] < 1~ il o/ 4 4] < 1~ 14| 0/ 4
PN (MPN,/"100m1) 6. 5E03 3. 3E01 ~ 2.4E04| 3/ 4 2.5E03 2.0E01 ~ 7.9E03] 3/ 4
n =% R (mg/1)
s (mg,/1) 0. 27 0.17 ~ 0.33] 4/ 4 0.38 0.13 ~ 0.92) 4/ 4
?‘_%* (mg/1) 0.012 0.007 ~ 0.014] 4/ 4 0.015f < 0.003 ~ 0.040( 3/ 4
Al (mg,/1)

(mg/1)

= (mg,/1)
# (mg,1)
L PR (mg,/1)
(%3 (mg/1)
HKER (mg,/1)
T L LK (mg/1)
PCB (mg1)
DY ¥ 4 (mg/1)
DAL S (mg,/1)
1, 2 ey (mg,1)
1, 1-YrmrpxFLy (mg,/1)
YA—1, 2—Y/ppxFLv (mg,1)
TR H 1, 1, 1—hY)rmpzyy (mg,/1)
1, 1, 2—hkVsmpxy (mg,/1)
M) ZmpxzFLy (mg,/1)
FhFs/mp=FLy (mg,/'1)
1, 3—Ysnpuunrsuly (mg, /1)
FUT AN (mg/1)
P (mg,/1)
FASUHNT (mg/1)
Ny (mg/1)
Ly (mg,/1)
A 28 R % OV R A 28 (mg,/1)
T (mg/1)
SoFk (mg,/1)
129 # (mg/1)
VAR=F: VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg,/1)
RNV LT VT E R (mg,1)
Z8=0=F: V2N (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—vrunray (mg,/'1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg/1)
ATV ) v (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
surZa=. (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
Y uLRA (DDVP) (mg,1)

HEECHIH Zx)7HNT (BPMC) (mg/1)
A7 n~rikAx (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FvLy (mg,/1)
T HNEY =T L ~F L (mg,1)
= bk (mg,/1)
EYTT (mg/1)
TFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, 4=V F x4 (mg,1)
e (mg,/1)
U7 (mg/1)
7 = ) —VHix (mg1)
Hilx (mg/1)
Bk (EfgtE) = (mg,/1)
U A (WEARME) * (mg,/'1)
VAP (mg,/1)
T ES (mg/1)
AT R R (mg,/1)

ZOMEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
T+ ()
BRI Fx (ms/m)
ClAArx* (mg/1)
JEET ) ak (ug/1) 2 1~ 4] 4/ 4 11] < 1~ 29[ 3/ 4
S A A KB 1 B B (f#,/100m1)
A A FE TS A (mg,/1)
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Wli% [ERIIER BRI IR
HE MR [ (AA) Fé i (AA) R (A)

HEFH BEfE S Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.7 7.3 ~ 8.4 0/ 12 7.7 7.3 ~ 8.1 0/ 12 7.7 7.2 ~ 8.1 0/ 12
DO (mg,/1) 12 9.6 ~ 15 0/ 12 11 8.6 ~ 13| 0/ 12 11 9.5 ~ 12| 0/ 12
BOD (mg1) 0.5[ < 0.5 ~ 0.6 0/ 12 0.5 < 0.5 ~ 0.9] 0/ 12 0.5[ < 0.5 ~ 0.6/ 0/ 12
BOD (FEs:75%f) | < 0.5 < 0.5 0.5
coD (mg,1) 0.7 < 0.5 ~ 16| 0/ 12 0.9 < 0.5 ~ 2.0l 0/ 12 0.9 < 0.5 ~ 17| 0/ 12

ATREREEEA GU)ID [S S (mg/1) 1f < 1~ 1l 0/ 12 1| < 1~ 1l o/ 12 1f < 1~ 2| 0/ 12
RIB i RER (MPN,/100m1) 1. 0E03 7.0E01 ~ 5.4E03[ 12/ 12 1. 903 2. 3802 ~ 7.9E03[ 12/ 12 1. 503 1. 7TE02 ~ 9.2E03[ 3/ 12
n —~F Y Ul R (mg,/1)

I Hx (g /1) 0.39 0.33 ~ 0.46| 4/ 4 0.39 0.32 ~ 0.45| 6/ 6
B (mg,1) 0.011 0.005 ~ 0.016] 4/ 4 0.015 0.005 ~ 0.022| 6/ 6
A (g /1) 0. 002 0.001 ~ 0.003| 0/ 4
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2
LTV (mg1) ND ND 0/ 2
4l (mg,/1) < 0.005 < 0.005 0/ 2
AN 7 (mg1) < 0. 04 < 0.04 0/ 2
it (mg,/1) < 0.005 < 0.005 0/ 2
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1)
vrunAsy (mg,/1) < 0.002 < 0.002 0/ 2
VAL R (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg,/1) < 0.004 < 0.001 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg1) < 0.002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <0. 0005 0/ 2
1, 3—Ysnusn~y (ng/1) < 0.0002 <0.0002 0/ 2
FUT A (mg,/1) < 0.0006 <0.0006 0/ 2
A (mg1) < 0.0003 <€0. 0003 0/ 2
FASRYHNT (mg,/1) < 0.002 < 0.002 0/ 2
NPy (mg1) < 0,001 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2
T ARTEEE R R OV AR R R (mg,/1)
R 4 (mg/1)
o (mg1) < 0.1 < 0.1 0/ 2
139 # (mg,/1) <002 < 0.02 0/ 2
VAR=F: VN (mg,/1)

RAEAEMEGRIER (7= —1 (mg,/1) < 0.001 < 0.001 0/ 1
RV AT VT e R (mg1) < 0. 03 < 0.03 0/ 1
JunfL (mg,/1) < 0.006 0/ 1
FIUA—1, 2—V/nRrTFL (mg,/1)

1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
e (mg,/1)
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg/1)
DATHEE S Bx (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCx* (mg1) 0.8 < 0.5 ~ 0.8 1/ 4 0.8] < 0.5 ~ 0.8 1/ 4 0.6[ < 0.5 ~ 0.6 2/ 4
ol (%) 1] < 1~ 1] 3/ 12 1] < 1~ 1| 5/ 12 2| < 1~ 3 3/ 12
BAUREE (ms/m) 5.7 3.8 ~ 8.2l 12/ 12 6.5 4.3 ~ 8.4 12/ 12 6.5 4.1 ~ 77012/ 12
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 2| < 1~ 2| 1/ 4
S AT R i B Ao (f#,/100m1) 95 24 ~ 2000 6/ 6
A A o G PE A (mg,/1)
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Wlig [ERIIH BRI IR
HEHA |2 (A) i) | (A) ERIE (A)

Bl H HE T S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.5 6.9 ~ 7.8] 0/ 12 7.6 7.4 ~ 7.8] 0/ 12 7.5 7.1 ~ 7.7 0/ 12
DO (mg,1) 11 9.0 ~ 12[ 0/ 12 11 9.0 ~ 13| 0/ 12 10 8.3 ~ 12| 0/ 12
BOD (mg1) 0.6 0.5 ~ Lol 0/ 12 0.5 < 0.5 ~ 0.8] 0/ 12 0.6 .5 ~ 0.9 0/ 12
BOD (F B 75%i) 0.6 < 0.5 7
coD (mg1) 0.9 0.5 ~ 1.8l 0/ 12 1.3 0.8 ~ 2.0l 0/ 12 1.5 1.0 ~ 2.1 0/ 12

ERRREIEAE G [s S (mg,1) 1 1~ 1 0/ 12 2| < 1~ 3| 0/ 12 2 1~ 5 0/ 12
RIB i RER (MPN,/100m1) 3. 703 1. 7TE02 ~ 2.4804[ 7/ 12 2. 2803 7.8E01 ~ 1.3E04| 6/ 12 2. 8E03 1.6E02 ~ 7.9803[ 6/ 12
n —~F Y Ul R (mg,/1) ND 0/ 4
I Hx (g /1) 0.52 0.39 ~ 0.67| 6/ 6 0. 49 0.37 ~ 0.63] 12/ 12
B (mg,1) 0.015 0.004 ~ 0.024| 6/ 6 0.017 0.009 ~ 0.028] 12/ 12
A (mg1) 0.003 0.002 ~ 0.003| 0/ 4 0. 004 0.001 ~ 0.014| 0/ 12
R A (mg,/1)| < 0.001 < 0.001 0/ 2[ < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 12[ < 0.005 < 0.005 0/ 2
Al 7 7 2 (mg/1)| < 0. 01 < 0.04 0/ 2f< 0.04 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 12[ < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)

PCB (mg1) ND ND 0/ 1 ND ND 0/ 1
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2| < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2[ < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/D| < 0.004 < 0.004 0/ 2| < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2[ < 0,002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/D| < 0.0005 <0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT A (mg/ 1| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
Ny Y (mg/ 1] < 0.00 < 0.001 0/ 2[ < 0.001 < 0.001 0/ 2[ < o001 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 0. 35 0.31 ~ 0.39] 0/ 2 0.41 0.35 ~ 0.49) 0/ 4 0. 10 0.30 ~ 0.19[ 0/ 2
AL (mg,/1) 0. 002 2/ 2 0.004 0.002 ~ 0.005| 4/ 4 < 0.002 0/ 2
o (mg/1)| < 0.1 < 0.1 0/ 2| < 0.1 < 0.1 0/ 4] < 0.1 < 0.1 0/ 2
139 # (mg/ ]| < 0.02 < 0.02 0/ 2 0.02 0.02 0/ 2[< o002 < 0.02 0/ 2
VAR=F: VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1)| < 0.001 < 0.001 0/ 1
RV AT VT e R (mg/1)| < 0. 03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrnrgu=/, (TPN) (ng,/1)
(mg/1)
(mg,/1)

YruLRZ (DDVP) (mg/1)

HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1) <€0. 0005 0/ 2
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
v Hy (mg,/1)
vy (mg/1)
7 = ) —VEix (mg,/1) < 0.0l 0/ 4
Hilx (mg,/1) < 0.01 0/ 4
S () = (mg,/1) 0.03] < 0.02 ~ 0.04] 3/ 4
v H Y (GERRE) = (mg,/1) < 0,02 0/ 4
VAP (mg,/1) < 0.02 0/ 4
T E =T R (mg,1) 0.07] < 0.05 ~ 0.07| 1/ 12
DATHEE S Bx (mg,/1)

ZDHWIEA v b Y ERfE (mg,1) 0.012 0.003 ~ 0.021| 4/ 4
TOCx* (mg1) 0.7 0.5 ~ 0.8 2/ 4 0.6 < 0.5 ~ 0.7] 5/ 12
ol (%) 3 1~ 1| 3/ 12 1] < 1~ 110/ 12 2 1~ 5| 5/ 12
BRAGE R (ms/m) 6.7 1.2 ~ 81|12/ 12 7.7 1.7 ~ 9.5 12/ 12
ClAFr* (mg,1) 3 2~ 6l 1/ 4
JHB7 fbax (ug/l) < 1 0/ 4
S A A KB 1 B B (f#,100m1) 90 18 ~ 190 6/ 6 95 12 ~ 400 12/ 12
faA A F A (mg,/1)
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WEHA BB AE A) L EN () ERKHE )
Bl H HE T S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.9 7.6 ~ 8.3 o/ 4 7.4 7.1~ 7.8] 0/ 12 7.5 7.3 ~ 8.1 0/ 12
DO (mg,1) 10 9.6 ~ 12 0/ 4 10 9.0 ~ 12| 0/ 12 10 8.6 ~ 12| 0/ 12
BOD (mg1) 5 0.5 ~ 0.5 0/ 4 0.8 0.5 ~ L1 0/ 12 0.6[ < 0.5 ~ 0.8 0/ 12
BOD (F B 75%i) 0.5 0.9 0.5
coD (mg1) 1.5 1.2 ~ L9l 0/ 4 1.7 0.9 ~ 2.5 0/ 12 1.6 1.2 ~ 2.1 0/ 12
ERRREIEAE G [s S (mg,1) 2 1~ 3l 0/ 4 2 1~ 5 0/ 12 2| < 1~ 1 0/ 12
RIB i RER (MPN,/100m1) 1. 7E03 1.9E03[ 2/ 4 2. 1E03 1. 1E02 ~ 7.9E03[ 6/ 12 1. 503 1. 7TE02 ~ 1.9E03[ 8/ 12
n —~F Y Ul R (mg,/1) ND 0/ 4
I Hx (g /1) 0. 69 0.64 ~ 0.74] 4/ 4 0.91 0.72 ~ Lo| 12/ 12
B (mg,1) 0.028 0.022 ~ 0.040| 4/ 4 0.041 0.025 ~ 0.062| 12/ 12
A (g /1) 0.003 0.003 ~ 0.004| 0/ 4 0. 007 0.002 ~ 0.011] 0/ 12
HREIY A (mg/D| < 0.001 < 0.001 0/ 4 < 0.001 < 0.001 0/ 4
BYT v (mg1) ND ND 0/ 4
§ (mg/1)| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 12
L PR (mg1) < 0. 01 < 0.04 0/ 4
Tt (mg/1)]| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 12
HKER (mg1) < 0.0005 <€0. 0005 0/ 4
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
vrunAsy (mg/'1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
VAL R (mg1) < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1) < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1) < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2

e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1) < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1) < 0.002 < 0.002 o/ 2/ < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1) < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (ng/1) < 0.0002 <0. 0002 0/ 2
FUT A (mg/1) < 0.0006 <€0.0006 0/ 2
A (mg1) < 0.0003 <€0. 0003 0/ 2
FARINT (mg,/'1) < 0.002 < 0.002 0/ 2
NPy (mg1) < 0.001 < 0.001 0/ 2
L (mg,/'1) < 0.002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0.74 0.65 ~ 0.80[ 0/ 4
AL (mg,/1) 0.016 0.005 ~ 0.032) 4/ 4
SoFk (mg1) < 0.1 < 0.1 0/ 4
139 # (mg,/1) 0.02] < 0.02 ~ 0.02| 0/ 4
VACE=E VPN (mg1) < 0.006 < 0.006 0/ 2

KA EGEHHA | 7=/ —1 (mg/1) < 0.001 < 0.001 0/ 2
RV AT VT e R (mg1) < 0. 03 < 0.03 0/ 2
Va=2=F: VPN (mg,/1) < 0.006 0/ 2
rFv2A—1, 2=YZrpTF L (mg, /1) < 0.004 0/ 2
1, 2—Y/ansasy (mg/1) < 0.006 0/ 2
p—YrmuRy¥y (mg1) < 0.03 0/ 2
A Y FYFA (mg,/'1) <0. 0008 0/ 2
HATV) (mg,/1) <0. 0005 0/ 2
Zxz=FnFA+r (MEP) (mg,/1) <0.0003 0/ 2
AV TaFET v (mg1) < 0.004 0/ 2
Ay (KRR (mg/1) < 0.004 0/ 2
sarZu=, (TPN) (mg1) < 0.004 0/ 2

(mg,/1) <0. 0008 0/ 2
(mg,/1) <0. 0006 0/ 2
Y/ uuRA (DDVP) (mg,/1) < 0.001 0/ 2

HEECHIH Zx)7HNT (BPMC) (mg,/'1) < 0.002 0/ 2
A 7Rk A (1BP) (mg,/1) <0. 0008 0o/ 2
san=tr7=xr (CNP) * (mg1) <€0. 0005 0/ 2
hroe (mg,/'1) < 0.06 0/ 2
FoLy (mg,/1) < 0.04 0/ 2
THNET T F~F L (mg,/'1) < 0.006 0/ 2
= bk (mg,/1) 0.001 2/ 2
EYTT (mg,/'1) < 0.007 0/ 2
TUFEY (mg1) <€0. 0002 0/ 2
Hike= 1% /) v— (mg,/1) <0. 0002 0o/ 2
Tvspmk FYr (ug/1) < 0.04 0/ 2
1, A=VF x4 (mg/'1) < 0.005 0/ 2
ER (mg1) < 0.02 0/ 2
vy (mg/'1) <0. 0002 0/ 2
7 x ) — Vi (mg,/1) < 0.01 0/ 4
Hilx (mg,/1) < 0.01 0/ 4
Bk (EfgtE) = (mg,/1) 0.03 0.02 ~ 0.01f 4/ 4
v H Y (GERRE) = (mg/1) < 0.02 0/ 4
VAP (mg,/1) < 0.02 0/ 4
T E =T R (mg,/1) 0.05 0.05 ~ 0.05| 3/ 4 0.10) < 0.05 ~ 0.14| 3/ 4
DATHEE S Bx (mg,/1)

ZDHWIEA v b Y ERfE (mg,1) 0. 026 0.012 ~ 0.033) 4/ 4
TOC* (mg1) 0.7 < 0.5 ~ 0.8/ 11/ 12
ol (%) 2 1~ 2| 4/ 4 3 1~ 5 6/ 12 1] < 1~ 2l 11/ 12
BRUAGE R (ms/m) 9.1 5.4 12|12/ 12
ClA A (mg,/1) 1 2 ~ 6| 4/ 4 1 2 ~ 7|12/ 12
JEET ) ak (ug/1) 1] < 1~ 2| 9/ 12
S A A KB 1 B B (f#,100m1) 120 10 ~ 290| 4/ 4 18 2~ 47| 5/ 6 160 61 ~ 300 4/ 4
faA A F A (mg,/1)
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HEHA R KR (A) UMK (A) /NEFAE (AA)

HEFH BEfE 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R w/n
p 7.4 7.2 ~ 7.6 0/ 12 7.4 7.2 ~ 8.1 0/ 24 7.7 7.2 ~ 8.2 0/ 12
DO (mg,/1) 9.3 7.3 ~ 1 1/ 12 9.3 7.4~ 11| 1/ 24 11 9.1 ~ 12| 0/ 12
BOD (mg1) 0.7 0.5 ~ Lol 0/ 12 0.7 0.5 ~ 14| 0/ 24 0.5[ < 0.5 ~ 0.7 0/ 12
BOD (F B 75%i) 0.8 0.7 0.5
COD (mg,/1) 2.0 1.4 ~ 2.7 0/ 12 2.0 1.4 ~ 3.0 0/ 12 0.8] < 0.5 ~ 1.2 0/ 12

ATREREEEA GU)ID [S S (mg/1) 2 1~ 41 0/ 12 2 1~ 4 0/ 24 1f < 1~ 1l 0/ 12
RIB i RER (MPN,/100m1) 6. 1E01 2.3E03 ~ 2.3E05) 4/ 4 2. 404 7.0E03 ~ 1.9804| 4/ 4 3. 6E03 1.6E01 ~ 3.5E04 10/ 12
n —~F Y Ul R (mg,/1)

R Fx (mg,/1) 1.0 0.68 ~ 1.3[12/ 12 1.0 0.70 ~ 1.2f12/ 12 0.47 0.34 ~ 0.60| 4/ 4

N (mg,1) 0. 050 0.020 ~ 0.074| 12/ 12 0. 050 0.023 ~ 0.071| 12/ 12 0.017 0.010 ~ 0.021) 4/ 4

A (mg,/1) 0. 004 0.002 ~ 0.006| 0/ 4 0. 004 0.002 ~ 0.007| 0/ 4 0.003 0.002 ~ 0.003| 0/ 4

HEIT A (mg,/1)

BTV (mg,/1)

i) (mg,/1) < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 2

AP (mg,/1)

Tt (mg/1)]| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 2

HKER (mg,/1)

TF KR (mg,/'1)

PCB (mg1)

vranrH (mg,/1) < 0.002 < 0.002 0/ 2

DUSiAL R (mg,/1) < 0.0002 <0. 0002 0/ 2

1, 2—Ys/npxyy (mg,/1) < 0.0004 <€0.0004 0/ 2

1, 1-YZpupxzFL v (mg,/1) < 0,002 < 0.002 0/ 2

VA—1, 2—V/uaxFL (mg,/'1) < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <0. 0005 0/ 2

1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <0. 0006 0/ 2

F)smBaTzFLr (mg1) < 0,002 < 0.002 0/ 2

FhI/unxFLo (mg,/1) < 0.0005 <0. 0005 0/ 2

1, 3—Y/unra~y (mg,/1) < 0.0002 <0.0002 0/ 2

FUT A (mg,/1) < 0.0006 <0. 0006 0/ 2

A (mg1) < 0.0003 <0. 0003 0/ 2

FARINT (mg,/'1) < 0.002 < 0.002 0/ 2

NPy (mg1)

L (mg/1)

T ARTEEE R R OV AR R R (mg,/1)

Al 2 (mg,/1) 0. 025 0.008 ~ 0.036| 12/ 12

SoFk (mg,/1)

129 # (mg/1)

VAR=F: VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1) < 0.001 < 0.001 0/ 1
RV AT VT e R (mg1) < 0. 03 < 0.03 0/ 1
ZA=R=F:\V,7¥N (mg,/1) < 0.006 0/ 1
FIUA—1, 2—V/nRrTFL (mg,/1)

1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T E =T R (mg,1) 0.24 0.05 ~ 0.29| 2/ 4 0.16 0.05 ~ 0.25| 10/ 12
AT R R (mg,/1)

ZOfIEA AV b Y CEEREY vk (mg,/1) 0. 038 0.023 ~ 0.050| 12/ 12
TOCx* (mg1) 0.9 0.5 ~ 12|12/ 12 0.9 0.5 ~ 12|12/ 12 0.5[ < 0.5 ~ 0.5 1/ 4
) () 2 1~ 3| 7/ 12 2 1~ 519/ 24 1f < 1~ 1l 2/ 12
ERURE (ms/m) 5.9 1.3 ~ 71|12/ 12
ClAFr* (mg,1) 5 3~ 8l 12/ 12 5 3~ 7|12/ 12
JEET ) ak (ug/1) 2 1~ 4 5/ 12 3 1~ 1| 8/ 12
S A A KB 1 B B (1#,/100m1) 180 28 ~ 410 4/ 4 95 11~ 160[ 4/ 4
A A o G PE A (mg,/1)
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HEH A A AT ) i (AA) P AR (A)

HEFH BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.6 7.4 ~ 7.9 0/ 6 7.6 7.1~ 7.9 0/ 12 7.8 7.3 ~ 8.1 0/ 12
DO (mg,1) 11 9.8 ~ 12 0/ 6 11 9.5 ~ 12| 0/ 12 10 9.3 ~ 12| 0/ 12
BOD (mg1) 0.5 0.5 ~ 0.5 0/ 6 0.6 0.5 ~ 0.8] 0/ 12 0.7 0.5 ~ 15| 0/ 12
BOD (F B 75%i) 0.5 0.6 0.6
coD (mg1) 0.7 0.6 ~ 0.9 0/ 6 0.8 0.5 ~ 1.5 0/ 12 1.0 0.5 ~ 2.0 0/ 12

ATREREEEA GU)ID [S S (mg,1) 1 1~ 1l o/ 6 1 1~ 2l 0/ 12 1 1~ 3] 0/ 12
RIB i RER (MPN,/100m1) 2. 3803 1. 7E02 ~ 1.6E04| 12/ 12 2. 0E03 1. 3802 ~ 5.4E03[ 6/ 12
n —~% 4 Ll T (mg1)

I Hx (mg1) 0. 45 0.28 ~ 0.70] 1/ 4 0.77 0.45 ~ L5l 4/ 4
B (mg,1) 0.016 0.007 ~ 0.034| 4/ 4 0. 025 0.008 ~ 0.063 4/ 4
A (g /1) 0. 002 0.001 ~ 0.004| 0/ 4 0.003 0.001 ~ 0.005| 0/ 4
HEIT A (mg/1)
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
Al 7 7 2 (mg,/1) < 0. 04 < 0.04 0/ 2| < 0. 01 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
KK (mg/1)
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1 ND ND 0/ 1
CrunAsy (mg,/1) <0002 < 0.002 0/ 2
DAk B (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg,/1) < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1) < 0.002 < 0.002 o/ 2/ < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg,/1) < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT7Ah (mg/1) < 0.0006 <€0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
DA (mg1) < 0.0003 <0.0003 o/ 2| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
NPy (mg1) < 0.001 < 0.001 0/ 2
L (mg,/'1) < 0.002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0.51 0.48 ~ 0.51 0/ 2
T A 2 ok (mg/1) < 0.002 0/ 2
5 (mg1) 0.1 0.1 ~ 0.1 0/ 2f< 0.1 <01 0/ 2
139 # (mg,/1) <002 < 0.02 0/ 2
VACR=E VN (mg,/1)

RAEAEMEGRIER (7= —1 (mg,/1) < 0.001 < 0.001 0/ 1f < o.001 < 0.001 0/ 1
RNV LT VT E R (mg1) < 0.03 < 0.03 0/ 1] < 0.03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1 < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A% v o8l HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg1) 0. 005 0.002 ~ 0.008[ 2/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
FEVEYY - (mg,/1)
Hilx (mg,/1) < 0.01 0/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
(mg/1)
(mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCx* (mg,/1) < 0.5 0/ 1 0.5 0.5 ~ 0.5 1/ 4 0.5 0.5 ~ 0.5 3/ 4
ol (%) 1 1~ 1| 3/ 12 3 1~ 3 1/ 12
BRAGE R (ms/m) 5.9 1.0 ~ 7.2| 12/ 12 13 9.9 ~ 16| 12/ 12
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
FEA A SR TS A (mg,/1)
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[OIIES HR JIHT mEl
HIEH A B (A) ) B AT -) H R )

Bl H HE T S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.2 6.5 ~ 7.5 0/ 12 7.7 7.0 ~ 8.3 0/ 6 7.9 7.1 ~ 8.8 0/ 12
DO (mg,/1) 11 9.4 ~ 13[ 0/ 12 11 9.9 ~ 14| 0/ 6 11 7.9 ~ 15 0/ 12
BOD (mg1) 0.8 0.5 ~ 1.8l 0/ 12 0.7 0.5 ~ 0.8 0/ 6 1.9 0.7 ~ 7.9 0/ 12
BOD (F B 75%i) 0.9 0.8 2.0
COD (mg,/1) 1.7 0.8 ~ 2.8 0/ 12 1.5 11~ 2.2 0/ 6 1.8 2.4 ~ 20 0/ 12

ERRREIEAE G [s S (mg,/1) 2 1~ 6| 0/ 12 1 1~ 1l 0/ 6 21 1~ 200| 0/ 12
RIB i RER (MPN,/100m1) 7. 3803 1.9E02 ~ 2.4E04[ 9/ 12
n —~% 4 Ll T (mg1)

R Fx (mg1) 1.1 0.45 ~ L6l 4/ 4
B (mg,1) 0. 062 0.033 ~ 0.10) 4/ 4
Eix A (mg,/1) 0.017 0.009 ~ 0.026] 0/ 4
HEIT A (mg/1)
BTV (mg1) ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
AN 7 (mg,/1)] < 0.04 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
KK (mg/1)
TF KR (mg,/'1)
PCB (mg1)
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/D| < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1)| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <€0.0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 0/ 4
FhrIsnnTFLy (mg/D| < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y g/ )| < 0.0002 <0. 0002 0/ 2
FUT7Ah (mg/1)| < 0.0006 <0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/D| < 0.002 < 0.002 0/ 2
NPy (mg/1)| < 0.001 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2
A% 3R R O R A 2 R (mg,/1) 1.2 0.91 ~ L4 o/ 2
A A A1 2 e (mg,/'1) 0.020 2/ 2
o (mg/1)| < 0.1 < 0.1 0/ 2
EES (mg,/1)| < 0.02 < 0.02 0/ 2
VACR=E VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1)| < 0.001 < 0.001 0/ 1
RV AT VT e R (mg/1)| < 0. 03 < 0.03 0/ 1
LR (mg,/1) < 0.006 0/ 1
FIUA—1, 2—V/nRrTFL (mg,/1) < 0.004 0/ 1
1, 2—vYsunsasy (mg,/1) < 0.006 0/ 1
p—YrmuRy¥y (mg1) < 0.03 0/ 1
AV FFFA (mg,/1) <0. 0008 0/ 1
HAT V) (mg,/1) <0. 0005 0/ 1
Zxz=FnFA+r (MEP) (mg,/1) <0.0003 0/ 1
AV TaFET v (mg1) < 0.004 0/ 1
Ay (KRR (mg/1) < 0.004 0/ 1
smusa=L (TPN) (mg,/1) < 0.004 0/ 1
T IR (mg/1) <0.0008 0/ 1
EPN (mg1) <€0. 0006 0/ 1
Y/ uuRA (DDVP) (mg,/1) < 0.001 0/ 1

HEECHIH Zx)7HNT (BPMC) (mg,/'1) < 0.002 0/ 1
A 7u~rkA (1BP) (mg,/1) <0. 0008 0/ 1
san=tr7=xr (CNP) * (mg1) <€0. 0005 0/ 1
FLxy (mg,/1) < 0.06 0/ 1
FoLy (mg,/1) < 0.04 0/ 1
THNABEY T F L ~F (mg,/1) < 0.006 0/ 1
= bk (mg1) 0.010 0.002 ~ 0.017) 2/ 2
) TF (mg,/1) < 0.007 0/ 1
TUFEY (mg1) <€0. 0002 0/ 1
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
ER (mg1) < 0.02 0/ 2
vy (mg/1)
FEVEYY - (mg,/1)
% (mg,/'1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
T =T M Hex (mg/1)
DATHEE S Bx (mg,/1)

ZOfIEA AR Y CEEREY vk (mg/1)
TOCx* (mg1) 1.0 0.5 ~ Laf 1/ 4 0.7 0.5 ~ Lol 1/ 4
) () 2 1~ 6l 7/ 12
TR (ms/m) 10 6.7 ~ 1312/ 12 15 8.3 ~ 18] 12/ 12
ClAArx* (mg,/'1)
JBBET f)Lax (ug/1) 1 1~ 1 2/ 4
S A A KB 1 B B (f#,100m1)
A A o G PE A (mg,/1) 0. 04 2/ 2




SERR2UAEEE AR FE SR

)11 45 [N Y A BIEE
HEH A A AT ) AIRHE (A) AR (A)

HEFH HE A S Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.7 7.1 ~ 8.6 0/ 12 7.1 6.9 ~ 7.4] 0/ 12 7.1 6.9 ~ 7.4 0/ 12
DO (mg,/1) 11 8.3 ~ 14| 0/ 12 11 9.5 ~ 12| 0/ 12 9.0 6.3 ~ 1| 3/ 12
BOD (mg1) 0.8 < 5 ~ 2.1 0/ 12 0.6 < 0.5 ~ 0.9] 0/ 12 0.6[ < 0.5 ~ 0.9 0/ 12
BOD (F B 75%i) 0.7 .7 0.6
COD (mg,/1) 2.5 1.7 ~ 5.3 0/ 12 1.4f < 0.5 ~ 2.3 0/ 12 2.7 1.7~ 4.3 0/ 12

ERRREIEAE G [s S (mg,/1) 5 1~ 27 0/ 12 1] < 1~ 3| 0/ 12 9 3~ 17| 0/ 12
RIB i RER (MPN,/100m1) 3. 3E03 1.9E02 ~ 1. 1E04| 10/ 12 6. 3E03 1. 7TE02 ~ 1L7E04[ 9/ 12
n —~F Y Ul R (mg,/1)

R Fx (mg1) 1.8 1.4 ~ 2.4] 12/ 12
B (mg,1) 0. 092 0.056 ~ 0.17| 12/ 12
A (g /1) 0. 005 0.002 ~ 0.007| 0/ 12
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 2 0.008| < 0.005 ~ o011 1/ 2| < 0.005 < 0.005 0/ 6
Al 7 7 2 (mg,/1) < 0. 01 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 6
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
CrunAsy (mg,/1) <0002 < 0.002 0/ 2
VAL R (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0,002 < 0.002 0/ 2
YA—1, 2—Y/uunxFLv (mg,/1) <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <€0.0006 0/ 2
F)smBaTzFLr (mg1) < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (ng/1) < 0.0002 <0. 0002 0/ 2
FUI A (mg,/1) < 0.0006 <0.0006 0/ 2
vy (mg1) < 0.0003 <€0. 0003 0/ 2
FARINT (mg,/'1) < 0.002 < 0.002 0/ 2
NPy (mg1) < 0.001 < 0.001 0/ 2
L (mg,/'1) < 0.002 < 0.002 0/ 2
GRS DN B P % R (mg,/1) 1.6 1.2 ~ 1.8l 0/ 4
R 4 (mg/1)
o (mg1) < 0.1 <01 0/ 4
139 # (mg,/1) <002 < 0.02 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg/1)
e (mg,/1)
vy (mg/1)
7 = ) — Kk (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg,1) 0.13 0.08 ~ 0.21f 4/ 4
DATHEE S Bx (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
ol (%) 1] < 1~ 2| 6/ 12 5 3~ 9l 12/ 12
BAUREE (ms/m) 9.6 7.0 ~ 112/ 12 7.1 6.5 ~ 7.6[ 12/ 12
ClAFr* (mg,1) 1 3~ 6| 4/ 4
VA= Py FE] (ug/l)
S AT R i B Ao (f#,/100m1) 510 330 ~ 620 4/ 4
A A o G PE A (mg,/1)




SRR 2 V4R JEE
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[OIIES EEEYING SR [l
R (©) SENIE (B) EEENE (B)

HEFH BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.2 6.9 ~ 7.6] 0/ 24 7.5 7.2 ~ 7.7 0/ 12 7.2 6.9 ~ 7.4 0/ 12
DO (mg,1) 10 8.5 ~ 13| 0/ 24 9.8 8.6 ~ 11| 0/ 12 8.8 7.3 ~ 1| o/ 12
BOD (mg1) 1.0 0.5 ~ 2.2] 0/ 24 2.2 1.4 ~ 3.5 2/ 12 1.3 0.7 ~ 2.2 0/ 12
BOD (F B 75%i) 1.2 2.5 1.6
coD (mg1) 2.8 2.0 ~ 1.3 0/ 12 3.6 2.6 ~ 5.3 0/ 12 3.0 1.8 ~ 1.0 0/ 12

ERRREIEAE G [s S (mg,1) 5 2 ~ 1| 0/ 24 7| < 1~ 14| 0/ 12 5] < 1~ 12[ 0/ 12
RIB i RER (MPN,/100m1) E£04 3.5E01 8/ 12 5. 6E03 7.8E02 ~ 1.3E04[ 5/ 12
n —~F Y Ul R (mg,/1) ND 0/ 4
R Fx (mg,/1) 2.0 1.5 ~ 3.2| 12/ 12 1.5 1.0 ~ L8| 4/ 4
B (mg,1) 0. 095 0.067 ~ 0.13) 12/ 12 0. 081 0.054 ~ 0.11) 4/ 4
A (mg1) 0. 007 0.003 ~ 0.010| 0/ 12 0.011 0.005 ~ 0.016] 0/ 4
HREIY A (mg/D| < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 12 ND ND 0/ 1
§ (mg/1)| < 0.005 < 0.005 0/ 6 0.008| < 0.005 ~ 0.010| 0/ 2 0.006) < 0.005 ~ 0.007| 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2 <004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 6| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)

PCB (mg1) ND ND 0/ 1
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
DAk B (mg/1)| < 0.0002 <€0. 0002 0/ 2 < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2 <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2
FUT A (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
Ny Y (mg/1)| < 0.001 < 0.001 0/ 2 <000 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 1.5 1.3 ~ 1.9 0/ 4 1.1 0.97 ~ L3l o/ 2
T A 2 ok (mg/1) < 0.002 0/ 2
5 (mg/1)| < 0.1 < 0.1 0/ 4 < 0.1 < 0.1 0/ 2
139 # (mg,/1) 0.02 0.02 ~ 0.03) 0/ 4 <002 < 0.02 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FuEP IR (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7z ) — V% (ng,/1) < 0.01 0/ 4
Hilx (mg/1) < 0.01 0/ 4
B (Ffatt) * (mg,/1) 0.10 0.06 ~ 0.13] 4/ 4
vy () * (mg,1) 0. 02 0.02 ~ 0.02[ 1/ 4
VAP (ng,/1) < 0,02 0/ 4
(mg,1) 0.13 0.07 ~ 0.23| 4/ 4
(mg,/1)
ZOMIEA F R CEERED % (mg,/1)
TOCH (mg,/1)
ol (%) 2 1~ 1|24/ 24
BRAGE R (ms/m) 11 9.0 ~ 20 12/ 12 11 9.8 ~ 19] 12/ 12
ClAFr* (mg,1) 9 7~ ol 1/ 4
VA= Py FE] (ug/l)
S A A KB 1 B B (1#,/100m1) 470 100 ~ 540 4/ 4 30 < 2 ~ 50 5/ 6
WA A SR 3 A e (mg,/1) 0. 06 1/ 1 0.04 1/ 1
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HE A [SPA T ) RN ) EEENE )
HEFH HE A 22 Ji /M~ g KA n/n -E) s/ IME~ IR n/n 22 St/ ME~ e R m/n

pH 6.8 6.6 ~ 7.0 0/ 6 7.5 7.1~ 8.0 0/ 6 8.0 7.4 ~ 9.1| 0/

DO (mg,/1) 9.1 8.4 ~ 10 0/ 6 9.8 7.2 ~ 12l 0/ 6 11 7.5 ~ 15| 0/

BOD (mg1) 0.6 0.5 ~ 0.8] 0/ 6 13| < 0.5 ~ 2.4 0/ 6 1.3 0.5 ~ 2.6 0/

BOD (F B 2 75%() 0.5 2.2 1.5

COD (mg,/1) 1.4 0.6 ~ 2.1 0/ 6 2.9 1.2 ~ 4.0 0/ 6 3.1 1.5 ~ 5.3 0/

ATREREEEA GU)ID [S S (mg,/1) 3 1~ 9] 0/ 6 7 3 ~ 1] 0/ 6 3 1~ 6 0/
NS (MPN,/100m1)
n =% R (mg/1)
AEE Fx (mg,/1)
%%* (mg/1)
A g (mg,/1)
(mg/1)
>3 (mg,/1)
# (mg,1)
L PR (mg,/1)
(%3 (mg/1)
HKER (mg1)
TF KR (mg,/'1)
PCB (mg1)
DY ¥ 4 (mg/1)
DAL S (mg,/1)
1, 2 ey (mg,1)
1, 1-YrmrpxFLy (mg,/1)
YA—1, 2—Y/ppxFLv (mg,1)
TR H 1, 1, 1—h)Zmuxzgr (mg,/1)
1, 1, 2—hkVsmpxy (mg,/1)
M) ZmpxzFLy (mg,/1)
FhFs/mp=FLy (mg,/'1)
1, 3—yrmprriy (mg,/1)
FT A (mg/1)
P (mg,/1)
FARCHNT (mg/1)
NPy (mg/1)
L (mg,/1)
A 28 R % OV R A 28 (mg,/1)
A A (mg/1)
SoFk (mg,/1)
129 # (mg/1)
VACR=E VN (mg,/1)
KA EGEHHA | 7=/ —1 (mg/1)
RNV LT VT E R (mg,1)
Z8=0=F: V2N (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/'1)
p—YrmrmEr By (mg,1)
1Y XY FA (ng/1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
¥ v () (mg,1)
surZa=. (TPN) (mg,/1)
TuEYI R (mg,1)
EPN (mg1)
Y uLRA (DDVP) (mg,1)
HEECHIH T =) THNT (BPMC) (mg/1)
A7 n~rikAx (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FvLy (mg,/1)
T HNEY =T L ~F L (mg,1)
= bk (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, 4=V F x4 (mg,1)
e (mg,/1)
vy (mg/1)
7 = ) — Kk (mg1)
% (mg/1)
Bk (EfgtE) = (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
T ES (mg/1)
AT R R (mg,/1)
ZOMEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) ()

TERUR I R (ms/m) 13 12 ~ 1f 6/ 6 14 5.5 ~ 200 6/ 6 9.8 8.3 ~ 13| 6/
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)

A A S I A (mg,/1) < 0.02 0/ 2 0. 05 0.04 ~ 0.06] 2/ 2 0. 07 0.04 ~ 0.10[ 2/




SERR2UAEEE AR FE SR

[OIIES R it i ) | Bl i
HE R B BA T ) A1 A i ) e i [©)
HEFH HE A 22 Ji /M~ g KA n/n -E) s/ IME~ IR m/n 22 St/ ME~ e R
p 7.7 6.9 ~ 8.6] 0/ 6 7.0 6.8 ~ 7.1] 0/ 12 7.8 7.0 ~ 8.9
DO (mg,/1) 12 8.5 ~ 6] 0/ 6 11 7.6 ~ 17| 0/ 12 11 9.1 ~ 13
BOD (mg1) 0.7 < 0.5 ~ 0.9 0/ 6 0.5 < 0.5 ~ 0.7] 0/ 12 1.4 < 0.5 ~ 3.3
BOD (F B 2 75%() 0.9 < 0.5 1.4
COD (mg,/1) 2.1 1.5 ~ 3.2 0/ 6 1.2 0.7 ~ 1.9] 0/ 12 3.3 1.4 ~ 7.0
ATREREEEA GU)ID [S S (mg,/1) 5 1~ 13 0/ 6 2| < 1~ 3| 0/ 12 8| < 1~ 59
NS (MPN,/100m1)
n =% R (mg,/1)
AEE Fx (mg,/1)
%%* (mg/1)
A g (mg,/1)
(mg/1)
(mg,/1)
Eit) (mg/1) < 0.005 < 0.005 0/ 2| < 0.005 < 0.005
i = A (mg,/1)] < 0.04 < 0.04 0/ 2
Tt (mg,/'1) < 0.005 < 0.005 0/ 2| < 0.005 < 0.005
HKER (mg1)
TF KR (mg,/'1)
PCB (mg1)
DY ¥ 4 (mg,/'1)
DAL S (mg,/1)
1, 2 VAR=E (mg,1)
1, 1-YrmrpxFLy (mg,/1)
VA—1, 2—V/runxFlLr (mg,1)
TR H 1, 1, 1—h)Zmuxzgr (mg,/1)
1, 1, 2—hkVsmpxy (mg,/1)
M) ZmpxzFLy (mg,/1)
FhFs/mp=FLy (mg,/'1)
1, 3—yrmprriy (mg,/1)
FT A (mg/1)
P (mg,/1)
FARCHNT (mg,/'1)
NPy (mg,/1)] < 0.001 < 0.001 0/ 2
L (mg,/1)
A 28 R % OV R A 28 (mg,/1)
A A S (mg/1)
SoFk (mg,/1)
129 # (mg/1)
VACR=E VN (mg,/1)
KA EGEHHA | 7=/ —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
1Y XY FA (ng/1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
¥ v () (mg,1)
surZa=. (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
Y uLRA (DDVP) (mg,1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FvLy (mg,/1)
T HNEY =T L ~F L (mg,1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 = ) — Kk (mg1)
% (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
T ES EH (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) ()
TERUR I R (ms/m) 11 11~ 12 6/ 6 17 16 ~ 18] 12/ 12 11 7.8 ~ 16
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
A A S I A (mg1) 0.03] < 0.02 ~ 0.03) 1/ 2 0. 03 0.02 ~ 0.03] 2/ 2 0.05
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[OIIES il i EAIN S
R E (©) EAlll (©) HA (B)

HEFH BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S St/ ME~ e R w/n
p 7.3 7.0 ~ 7.6 0/ 12 7.3 7.1~ 7.6] 0/ 12 7.6 7.2 ~ 8.1 0/ 12
DO (mg,/1) 8.3 7.5 ~ 9.6] 0/ 12 6.9 5.6 ~ 8.5 0/ 12 8.5 7.5 ~ 9.3 0/ 12
BOD (mg1) 2.6 1.3 ~ 1.5 0/ 12 1.1 1.5 ~ 13[ 3/ 12 1.6 0.5 ~ 1.2 1/ 12
BOD (F B 75%i) 3.2 1.1 1.7
coD (mg1) 5.6 3.3 ~ 9.3 0/ 12 6.1 3.7 ~ 10f 0/ 12 2.9 0.9 ~ 6.6/ 0/ 12

ERRREIEAE G [s S (mg,1) 10 1~ 27 0/ 12 10 2~ 24| 0/ 12 9 1~ 350 2/ 12
ORI B RE R (MPN,100m1) 1. 8E05 3.3E03 ~ 1. 1E06| 8/ 12
n —~% 4 Ll T (mg1)

R Fx (mg,/1) 3.0 1.4 ~ 4.7 4/ 4 3.6 1.4 ~ 6.1 6/ 6 1.2 0.91 ~ 1.5 6/ 6
B (mg,1) 0.25 0.11 ~ 0.35| 4/ 4 0.16 0.12 ~ 0.19] 6/ 6 0. 081 0.040 ~ 0.14) 6/ 6
A (g /1) 0. 025 0.013 ~ 0.037| 0/ 4 0.023 0.014 ~ 0.030] 0/ 4 0.016 0.008 ~ 0.031] 0/ 4
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 4 0. 005 0.005 ~ 0.005| 0/ 4
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2[< o001 < 0.04 0o/ 2[< 004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
HKER (mg/1)
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1 ND ND 0/ 1
CrunAsy (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 4
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <0.0004 0/ 2| < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2[ < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2| < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2[ < 0,002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 4f < 0.0005 <€0.0005 0/ 4
1, 3—Ysnusn~y (mg,/1) < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT7Ah (mg/1) < 0.0006 <€0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
DA (mg1) < 0.0003 <0.0003 o/ 2| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
Ny Y (mg1) < 0.001 < 0.001 o/ 2| < o0.001 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 2.2 1.1~ 3.3 0/ 2 0. 96 0.91 ~ 0.97[ 0/ 2
AL (mg,/1) 0.077 0.033 ~ 0.12| 2/ 2 0.047 0.002 ~ 0.047) 1/ 2
o (mg1) 0.1 0.1 0/ 2 0.1 0.1~ 0.1 0/ 2
139 # (mg,/1) 0.03 0.02 ~ 0.03] 0/ 2| < 0.02 < 0.02 0/ 2
VACR=E VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A% v o8l HE) (mg,1)
smunrdnr=, (TPN) (ng,/1)
(mg/1)
(mg,/1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
=k (ng,/1) 0.001 2/ 2 0.002 2/ 2 < 0.001 0/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
e (mg,/1)
vy (mg/1)
7 x ) — Vi (mg,/1) < 0.01 0/ 2 0.01] < 0.01 ~ 0.01] 1/ 2 < 0.01 0/ 2
Sl (mg,/1) < 0.01 0/ 2 < 0.01 0/ 1 < 0.01 0/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
s (mg,/1) < 0.02 0/ 1 < 0.02 0/ 1
T =T PEE H (mg,1)
DATHEE S Bx (mg,/1)
DI A AL b ) R (mg/1)
TOCH (mg,/1)
) ()
BRAGE R (ms/m) 23 12 ~ 32[12/ 12 23 15 ~ 31| 12/ 12 11 12 ~ 15 12/ 12
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 2 2~ 3| 4/ 4 8 1~ 1l 4/ 4
S AT R i B Ao (f#,/100m1) 240 13 ~ 650 6/ 6
WA A SR 3 A e (mg1) 0.16 1/ 1 0.08 1/ 1 0.04 1/ 1
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HEFH HE A 22 Ji /M~ g KA m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R m/n
p 7.9 7.5 ~ 8.5 0/ 12 7.5 7.2 ~ 7.8] 0/ 12 7.4 7.2 ~ 7.7 0/ 12
DO (mg,/1) 11 8.5 ~ 15 0/ 12 8.4 6.3 ~ 10| 0/ 12 9.1 8.5 ~ 0] 0/ 12
BOD (mg1) 1| < 5~ 1.8l 0/ 12 1.8 1.0 ~ 2.8] 0/ 12 1.2 0.7 ~ 2.1 0/ 12
BOD (F B 2 75%() 1.3 2.2 1.3
COD (mg,/1) 1 0.9 ~ 4.2| 0/ 12 4.7 2.8 ~ 8.1 0/ 12 2.8 1.8 ~ 3.5 0/ 12

ERRREIEAE G [s S (mg,1) 2| < 1~ 71 0/ 12 13 5~ 10| 0/ 12 9 1~ 18[ 0/ 12

NS (MPN,/100m1)
n —~F Y Ul R (mg,/1)
R Fx (mg,/1) 1.4 1.2 ~ 1.6] 4/ 4 1.6 L1~ 2.0 1/ 1
N (mg,1) 0.074 0.032 ~ 0.15| 4/ 4 0.18 0.14 ~ 0.21] 1/ 4
A (mg1) 0.012 0.009 ~ 0.015| 0/ 2 0. 063 0.025 ~ 0.10) 0/ 2
HEIT A (mg,/1)
BTV (mg1)
ity (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
i = A (mg,/1)] < 0.04 < 0.04 0/ 2
(%3 (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
HKER (mg1)
TF KR (mg,/'1)
PCB (mg1)
BYAR=F ¥ % (mg/1)] < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
DUSiAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <0. 0004 0/ 2| < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2[ < 0.002 < 0.002 0/ 2
VA—1, 2—V/uaxFL (ng/1)| < 0.004 < 0.004 0/ 2| < 0.004 < 0.004 0/ 2

e H 1, 1, 1—hY)rmpzyy (mg,/1)| < 0.0005 <0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2— kY Zpo=zgy (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
FhrIrmREFLY (mg/1)| < 0.0005 <0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 2
1, 3—yrmprriy (mg,/1)
FT A (mg,/'1)
P (mg,/1)
FARCHNT (mg,/'1)
NPy (mg1)
L (mg,/1)
T ARTEEE R R OV AR R R (mg,/1)
R 4 (mg/1)
SoFk (mg,/1)
129 # (mg/1)
VACR=E VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1)

RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
ARy F A (ng/1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
¥ v () (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
Y uLRA (DDVP) (mg/1)

HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
=Lk (mg,/1) < 0.001 0/ 2 0. 003 2/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 x ) — Vi (mg,/1) < 0.01 0/ 2
ix (mg,/1) < 0.01 0/ 2 0.01] < 0.01 ~ 0.01] 1/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
s o bk (mg,/1) < 0.02 0/ 2 <002 0/ 1
T =T M Hex (mg/1)
AT R R (mg,/1)

ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) ()
BAUREE (ms/m) 15 14 ~ 16] 12/ 12 21 17 ~ 25( 12/ 12 17 13 ~ 2112/ 12
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
A A S I A (mg1) 0.05] < 0.02 ~ 0.05| 1/ 2 0.07 0.05 ~ 0.08) 2/ 2 0. 06 1/ 1
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Bl H HE T S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.3 7.1 ~ 7.7 0/ 12 7.5 7.4 ~ 7.5 0/ 7.8 7.3 ~ 8.8l 1/ 12
DO (mg,/1) 8.4 7.3 ~ 9.7 0/ 12 9.7 9.5 ~ 10| 0/ 11 9.9 ~ 13[ 0/ 12
BOD (mg1) 2.1 1.0 ~ 3.5 0/ 12 0.5 < 0.5 ~ 0.6] 0/ 1.6 2.2 ~ 8.8 1/ 12
BOD (F B 75%i) 2.4 0.5 5.2
coD (mg,1) 1.4 3.3 ~ 5.8/ 0/ 12 1.0 0.6 ~ 1.9 0/ 6.1 3.5 ~ 10| 0/ 12

ERRREIEAE G [s S (mg,/1) 5 1~ 12[ 0/ 12 2| < 1~ 3| o/ 3 1~ 6| 0/ 12
ORI B RE R (MPN,/100m1)

n —~% 4 Ll T (mg1)
R Fx (mg1) 2.0 1.3 ~ 2.7 4/ 4 3.2 1.4~ 6.2 6/ 6
B (mg,1) 0.10 0.094 ~ 0.11) 4/ 4 0.30 0.19 ~ 0.53| 6/ 6
A (g /1) 0. 025 0.014 ~ 0.035| 0/ 2 0. 005 0.004 ~ 0.006| 0/ 4
HEIT A (mg/1)
BTV (mg1) ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2
AN 7 (mg,/1)] < 0.04 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2
KK (mg/1)
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1 ND ND 0/ 1
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2 < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/D| < 0.004 < 0.004 0/ 2 <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/D| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 4
1, 3—Ysnusn~y (ng/1) < 0.0002 <0. 0002 0/ 2
FUT A (mg/1) < 0.0006 <€0.0006 0/ 2
A (mg1) < 0.0003 <€0. 0003 0/ 2
FARINT (mg,/'1) < 0.002 < 0.002 0/ 2
NPy (mg1) < 0.001 < 0.001 0/ 2
L (mg,/'1) < 0.002 < 0.002 0/ 2
A% 3R R O R A 2 R (mg,/1) 1.8 11~ 2.5 0/ 2
R 4 (mg,1) 0.23 0.14 ~ 0.32[ 2/ 2
o (mg1) < 0.1 < 0.1 0/ 2
139 # (mg,/1) <002 < 0.02 0/ 2
VACR=E VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1) < 0.001 < 0.001 0/ 1
RV AT VT e R (mg1) < 0. 03 < 0.03 0/ 1
Va=2=F: VPN (mg,/1) < 0.006 0/ 1
FIUA—1, 2—V/nRrTFL (mg,/1)

1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A% v o8l HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg1) 0.007 0.001 ~ 0.013[ 2/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
e (mg,/1)
vy (mg/1)
7z ) — V% (ng,/1) < 0.01 0/ 2
Hilx (mg/1) < 0.01 0/ 1
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1) < 0.02 0/ 1
T =T M Hex (mg/1)
DATHEE S Bx (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOC* (mg1) 2.3 1.8 ~ 3.4 4/ 4
) ()
BAUREE (ms/m) 20 14 ~ 28| 12/ 12 9.7 9.2 ~ 10[ 6/ 40 21 ~ 76[ 12/ 12
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 7 4~ 12 4/ 4
S A A KB 1 B B (f#,100m1)
A A S I A (mg,/1) 0. 06 1/ 1 0.06| < 0.02 ~ 0.06[ 1/ 0. 09 0.08 ~ 0.09] 2/ 2
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HEFH BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.1 6.8 ~ 7.4 0/ 12 7.4 7.0 ~ 7.6 0/ 7.1 6.5 ~ 7.5 0/ 12
DO (mg,1) 1.7 2.0 ~ 7.2 0/ 12 8.6 6.3 ~ 11| o/ 5.7 3.5 ~ 9.7| 6/ 12
BOD (mg1) 6.8 1.8 ~ 1| 0/ 12 2.5 1.3 ~ 1.4] 0/ 3.4 1.4~ 5.5 1/ 12
BOD (F B 75%i) 9.5 2.5 1.0
coD (mg1) 8.1 1.4 ~ 17| 0/ 12 3.2 1.9 ~ 1.4] 0/ 5.4 1.4 ~ 7.9 0/ 12

ERRREIEAE G [s S (mg,1) 6 4~ 9| 0o/ 12 5 1~ 8| o/ 9 4~ 12[ 0/ 12
ORI B RE R (MPN,100m1)

n —~% 4 Ll T (mg1)

I Hx (mg1) 3.1 1.6 ~ 1.3 6/ 6 1.5 1.2 ~ 18| 1/ 3.7 2.5 ~ 1.3 6/ 6

B (mg,1) 0.36 0.20 ~ 0.52| 6/ 6 0.11 0.10 ~ 0.13] 1/ 0.29 0.26 ~ 0.33| 6/ 6

A (mg1) 0.017 0.009 ~ 0.023] 0/ 4 0. 039 0.011 ~ 0.067| 0/ 4

HEIT A (mg/1)

BTV (mg,/1)

ity (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ < 0.005 < 0.005 0/ 2

ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2 <004 < 0.01 0/ 2

(%3 (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ < 0.005 < 0.005 0/ 2

KK (mg/1)

TF KR (mg,/'1)

PCB (mg1)

CrunAsy (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2

DAk B (mg/1)| < 0.0002 <€0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2

1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2

1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2

YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2 <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <0. 0005 0/ 2

1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2

r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 1 <0002 < 0.002 0/ 2

FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 4] < 0.0005 <0. 0005 0/ < 0.0005 <0. 0005 0/ 2

1, 3—Ysnusn~y (ng/1) < 0.0002 <0. 0002 0/ 2

FUT A (mg,/1) < 0.0006 <€0.0006 0/ 2

A (mg1) < 0.0003 <€0. 0003 0/ 2

FARINT (mg,/'1) < 0.002 < 0.002 0/ 2

NPy (mg/1)| < 0.001 < 0.001 0/ 2

Ly (mg/D| < 0.002 < 0.002 0/ 2

A% 3R R O R A 2 R (mg,/1) 0.78 0.63 ~ 0.93[ 0/ 2

Al 2 (mg,/1) 0.18 0.043 ~ 0.31 2/ 2

5 (mg1) 0.1 0.1 0/ 2

139 # (mg,/1) 0.02 0.02 ~ 0.02| 0/ 2

VACR=E VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1) < 0.001 < 0.001 0/ 1
RV AT VT e R (mg1) < 0. 03 < 0.03 0/ 1
Va=2=F: VPN (mg,/1) < 0.006 0/ 1
rFv2A—1, 2=YZrpTF L (mg, /1)

1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A% v o8l HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg,/1) 0.001 2/ 2 0.001 2/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
B H (mg,/1) 0.31 0.29 ~ 0.32| 2/ 2
vy (mg/1)
7z ) — V% (ng,/1) < 0.01 0/ 2
Hilx (mg,/'1) < 0.01 0/ 2 < 0.01 0/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
(mg/1)
(mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCx* (mg1) 5.0 3.5 ~ 6.2 1/ 4 1.6 1.2 ~ 18| 1/ 3.1 3.0 ~ 3.5 4/ 4
ol (%) 1 2 ~ 6|12/ 12 7 4~ 1012/ 12
BRAGE R (ms/m) 50 18 ~ 87| 12/ 12 17 7.2 ~ 22 6/ 29 18 ~ 5212/ 12
ClAFr* (mg,1) 17 9 ~ 24 2/ 2
JEET ) ak (ug/1) 9 2~ 1l 4/ 4
S A A KB 1 B B (1#,/100m1) 6700 1100 ~ 18000[ 6/ 6
WA A SR 3 A e (mg1) 0.17 0.09 ~ 0.24) 2/ 2 0. 06 0.05 ~ 0.07[ 2/ 0.13 0.09 ~ 0.17| 2/ 2
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[OIIES 211 (1) HHE)(2) #2811 (3)
[EE O [T [ T IR () i < ®
HEEH HE T S Jie/ME~ T K E m/n -E) Jie/ M iz m/n S s/ ME~ KA n/n
p 7.8 7.5 ~ 8.1 0/ 12 7.7 7.4 ~ 8.0l 0/ 12 7.5 7.2 ~ 7.6 0/ 12
DO (mg,1) 11 9.6 ~ 13[ 0/ 12 11 9.7 ~ 12| 0/ 12 9.1 7.1~ 1 1/ 12
BOD (mg1) 0.6 0.5 ~ Lol 0/ 12 0.6 0.5 ~ 0.8] 0/ 12 0.6 0.5 ~ 12| 0/ 12
BOD (F B 75%i) 0.7 0.6 0.7
coD (mg1) 1.4 0.5 ~ 2.8 0/ 12 1.2 0.5 ~ 2.1 0/ 12 1.9 1.2 ~ 3.3 0/ 12
ERRREIEAE G [s S (mg,1) 3 2 ~ 5 0/ 12 2 1~ 5 0/ 12 5 1~ 12[ 0/ 12
RIB i RER (MPN,/100m1) 1. 303 1.5E01 ~ 1.9E03[ 11/ 12 7. 2E03 1.9E02 ~ 3.5E04f 12/ 12 1. 0E04 1.9E03 ~ 2.3E04f 12/ 12
n —~F AR (mg,/'1) ND 0/ 4 ND 0/ 4 ND 0/ 14
I Hx (mg1) 0.39 0.26 ~ 0.58| 12/ 12 0.55 0.39 ~ 0.86] 12/ 12 0.88 0.67 ~ Lo| 12/ 12
B (mg,1) 0.015 0.009 ~ 0.020| 12/ 12 0.019 0.012 ~ 0.028] 12/ 12 0. 058 0.024 ~ 0.10| 12/ 12
A (mg1) 0.003 0.001 ~ 0.010| 0/ 12 0. 002 0.001 ~ 0.004| 0/ 12 0.003 0.002 ~ 0.005| 0/ 12
HREIY A (mg/1)]| < 0.001 < 0.001 0/ 2| < o0.001 < 0.001 0/ 4f < o.001 < 0.001 0/ 2
BTV (mg1) ND ND 0/ 2 ND ND 0/ 4 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 12| < 0.005 < 0.005 0/ 12[ < 0.005 < 0.005 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2[< o001 < 0.04 0o/ 4f < 004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 6| < 0.005 < 0.005 0/ 6f < 0.005 < 0.005 0/ 6
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 4] < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1 ND ND 0/ 1 ND ND 0/ 1
CrunAsy (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <0.0004 0/ 2| < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2[ < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2| < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2[ < 0,002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
Ny Y (mg/1)| < 0.001 < 0.001 0/ 2[ < 0.001 < 0.001 0/ 2[ < o001 < 0.001 0/ 2
Ly (mg/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 0.27 0.23 ~ 0.31] 0/ 4 0.41 0.33 ~ 0.48) 0/ 4 0. 80 0.67 ~ 0.97[ 0/ 4
AL (mg,/1) 0.003 0.002 ~ 0.003 2/ 4 0. 003 0.002 ~ 0.004| 3/ 4 0. 022 0.012 ~ 0.033) 4/ 4
o (mg/1)| < 0.1 < 0.1 0/ 4f < 0.1 < 0.1 0/ 4
EES (mg /1) < 0.02 < 0.02 0/ 2f< 0.02 < 0.02 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrnrgu=/, (TPN) (ng,/1)
(mg/1)
(mg,/1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
e (mg,/1)
vy (mg/1)
FEVAYZ it (ng,/1) < 0,01 0/ 4 < 0,01 0/ 4 < 0.01 0/ 4
Sl (mg/'1) < 0.01 0/ 14 < 0.01 0/ 4 < 0.01 0/ 14
Bk (EfgtE) = (mg,/1) 0.04 0.02 ~ 0.07| 4/ 4 0.04 0.02 ~ 0.05 3/ 4 0. 08 0.07 ~ 0.09[ 4/ 4
vy () * (mg/1) 0. 02 0.02 ~ 0.02[ 2/ 4 < 0.02 0/ 4 < 0.02 0/ 4
VAP (ng,/1) < 0,02 0/ 4 < 0.02 0/ 4 < 0,02 0/ 4
T E =T R (mg/1) < 0.05 0/ 14 < 0.05 0/ 4 < 0.05 0/ 14
DATHEE S Bx (mg,/1)
ZDHWIEA v b Y ERfE (mg,1) 0. 006 0.004 ~ 0.008) 4/ 4 0. 008 0.005 ~ 0.014] 4/ 4 0. 038 0.027 ~ 0.051| 4/ 4
TOCH (mg,/1)
ol (%) 2 1~ 1|12/ 12 1 1~ 3[12/ 12 3 1~ 8l 12/ 12
AR Fx (ms/m) 15 10 ~ 19] 12/ 12
ClAFr* (mg,/1) 2 1/ 4 2 2~ 3 4/ 4 6 4~ 8l 12/ 12
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1) 61 6 ~ 170f 4/ 4 150 9 ~ 390 4/ 4 190 70 ~ 310 4/ 4
FEA A SR TS A (mg,/1)
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[OIIES #2811 (3) Kl S
B[S (A) R (AA) 1 (AA)

HEFH BEfE 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.4 7.3 ~ 7.6 0/ 12 7.8 7.5 ~ 8.1 0/ 10 8.0 7.6 ~ 8.5 0/ 12
DO (mg,/1) 8.9 7.4 ~ 1| 2/ 12 11 8.6 ~ 14| 0/ 10 11 9.2 ~ 13[ 0/ 12
BOD (mg1) 0.7 < 0.5 ~ L1 0/ 12 0.7 < 0.5 ~ L1 2/ 10 0.5[ < 0.5 ~ 0.7 0/ 12
BOD (F B 75%i) 0.8 0.8 < 0.5
COD (mg,/1) 2.5 1.8 ~ 3.3 0/ 4 0.9[ < 0.5 ~ 1L4f 0/ 10 11] < 0.5 ~ 4.1 0/ 12

ERRREIEAE G [s S (mg,/1) 6 2 ~ 13[ 0/ 12 3| < 1~ s[ 0/ 10 1] < 1~ 3 0/ 12
RIB i RER (MPN,/100m1) 1. 1E04 3.3E03 ~ 2.3804[ 6/ 6 3. 0E03 1. 7E02 ~ 7.9E03[ 10/ 10 1. 303 1.5E01 ~ 1.9E03[ 11/ 12
n —~F Y Ul R (mg,/1)

R Fx (mg,/1) 1.0 0.82 ~ L1f 4/ 4 0.54 0.44 ~ 0.66] 4/ 4 0. 40 0.24 ~ 0.52| 12/ 12
B (mg,1) 0. 061 0.045 ~ 0.072| 4/ 4 0.012 0.007 ~ 0.018] 4/ 4 0.013 0.007 ~ 0.018) 12/ 12
A (g /1) 0. 006 0.002 ~ 0.013| 0/ 4 0.002| < 0.001 ~ 0.003| 0/ 4 0.001] < 0.001 ~ 0.003] 0/ 12
HREIY A (mg,/1) < 0.001 < 0.001 0/ 1
LTV (mg1) ND ND 0/ 1
4l (mg,/1) < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 6
Al 7 7 2 (mg,/1) < 0. 01 < 0.04 0/ 1
Tt (mg,/1) < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 6
HKER (mg1) < 0.0005 <0. 0005 0/ 1
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
CrunAsy (mg,/1) <0002 < 0.002 0/ 1
VAL R (mg,/1) < 0.0002 <0. 0002 0/ 1
1, 2—Ys/npxyy (mg,/1) < 0.0004 <€0.0004 0/ 1
1, 1-YZpupxzFL v (mg,/1) < 0,002 < 0.002 0/ 1
VA—1, 2—V/uaxFL (mg,/'1) < 0.004 < 0.004 0/ 1
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 1
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <€0.0006 0/ 1
F)smBaTzFLr (mg1) < 0,002 < 0.002 0/ 1
FhI/unxFLo (mg,/1) < 0.0005 <€0.0005 0/ 1
1, 3—Y/unra~y (mg,/1) < 0.0002 <0.0002 0/ 2 < 00002 <0. 0002 0/ 1
FUI A (mg/1) < 0.0006 <€0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 1
ey (mg1) < 0.0003 <0.0003 o/ 2| < 0.0003 <0. 0003 0/ 1
FARYHNT (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 1
NPy (mg1) < 0.001 < 0.001 0/ 1
L (mg,/'1) < 0.002 < 0.002 0/ 1
AL 28 R B OV R 28 3R (mg,/1) 0. 37 0.30 ~ 0.41f 0/ 4
R 4 (mg/1)
o (mg1) < 0.1 <01 0/ 4
139 # (mg,/1) <002 < 0.02 0/ 1
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
ER (mg1) < 0,02 0/ 2
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
R (mg,/1) 0.05| < 0.05 ~ 0.05| 1/ 4 < 0.05 0/ 4
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) () 3 1~ 812/ 12 4] < 1~ 10| 8/ 10 1f < 1~ 2| 7/ 12
BAUREE (ms/m) 16 10 ~ 20| 12/ 12 9.1 6.9 ~ 10[ 10/ 10
ClAFr* (mg,/1) 7 1~ 9l 12/ 12 2 1/ 4
VA= Py FE] (ug/l)
S A A KB 1 B B (1#,/100m1) 170 20 ~ 330[ 4/ 4 59 5~ 1200 4/ 4
A A S I A (mg1) 0.02| < 0.02 ~ 0.02) 1/ 2




SRR 2 V4R JEE

K851

N

e

&

[OIIES =K )l FEET]
HEHA | =K (A) A LRI ) IR A i )

HEFH HE A 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R w/n
p 7.2 6.7 ~ 7.9 0/ 12 .3 6.9 ~ 7.5] 0/ 6 7.7 7.1 ~ 8.5 0/ 6
DO (mg,/1) 11 7.9 ~ 14| 0/ 12 7.2 1~ 8.7 0/ 6 10 7.9 ~ 13 0/ 6
BOD (mg1) 1.2 0.7 ~ 2.0 0/ 12 1.1 2.4 ~ 6.7 0/ 6 2.1 0.9 ~ 1.7 0/ 6
BOD (F B 2 75%() 1.6 1.5 2.7
COD (mg,/1) 2.0 0.7 ~ 3.4 0/ 12 3.5 2.1 ~ 4.6 0/ 6 3.1 1.8 ~ 5.2| 0/ 6

ERRREIEAE G [s S (mg,/1) 3 1~ 71 0/ 12 1 2~ 7| o/ 6 3 2 ~ 71 0/ 6

NS (MPN,/100m1) 1. 2E04 1. 1E03 ~ 7.9804f 12/ 12
n —~F Y Ul R (mg,/1)
R Fx (mg,/1) 1.2 0.94 ~ 1L.6f 4/ 4 1.8 1.4 ~ 2.0 4/ 4 0. 82 0.62 ~ L1 4/ 4
N (mg,1) 0. 050 0.035 ~ 0.064) 4/ 4 0. 20 0.16 ~ 0.25| 1/ 4 0. 065 0.044 ~ 0.081) 4/ 4
A (mg1) 0. 005 0.002 ~ 0.009] 0/ 4
HEIT A (mg,/1)
LTV (mg1) ND ND 0/ 2
ity (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
AN 7 (mg1) < 0,04 < 0.04 0/ 2
(%3 (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
HKER (mg,/1)
TF KR (mg,/'1)
PCB (mg1)
vrau gy (mg,/1) < 0.002 < 0.002 0/ 2
DUSiAL R (mg,/1) < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <0.0004 0/ 2
1, 1-YrmrpxFLy (mg,/1)
VA—1, 2—V/runxFlLr (mg,1)

TR H 1, 1, 1—h)Zmuxzgr (mg,/1)
1, 1, 2—hkVsmpxy (mg,/1)
F)smBaTzFLr (mg1) < 0.002 < 0.002 0/ 2
FhI/unxFLo (mg,/1) < 0.0005 <0. 0005 0/ 2
1, 3—Y/unra~y (mg/1)| < 0.0002 <0. 0002 0/ 2
FUI A (mg/1)| < 0.0006 <0. 0006 0/ 2
ey (mg/1)| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2
NPy (mg1)
L (mg,/1)
T ARTEEE R R OV AR R R (mg,/1)
R 4 (mg/1)
o (mg1) < 0.1 < 0.1 0/ 2
139 # (mg,/1) <0.02 < 0.02 0/ 2
VAR=F: VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1)

RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)

HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg,1)
LN (mg1) 0. 03 0.02 ~ 0.03) 0/ 2
vy (mg/1)
7 = ) — Kk (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg/1)
AT R R (mg,/1)

ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) () 2 1~ 410/ 12
ERURE (ms/m) 11 10 ~ 12[ 12/ 12 21 15 ~ 25| 6/ 6 11 9.0 ~ 12| 6/ 6
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
A A S I A (mg,/1) 0.07 0.05 ~ 0.09] 2/ 2 0. 06 2/ 2
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[olIES ) B 1 ) TR
I RE A 2 (AA) BRE ARG (A) 0] [©)

Bl H BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.7 7.2 ~ 7.9 0/ 12 7.6 7.3 ~ 7.8] 0/ 12 7.5 7.3 ~ 7.8 0/ 24
DO (mg,1) 10 8.8 ~ 13[ 0/ 12 10 8.0 ~ 12| 0/ 12 8.8 6.3 ~ 1| 0/ 24
BOD (mg1) 0.7 0.5 ~ L1 1/ 12 0.6 < 0.5 ~ 1.2 0/ 12 Lo < 0.5 ~ 16| 0/ 24
BOD (F B 75%i) 0.7 0.5 1.2
coD (mg1) .0 0.6 ~ 16| 0/ 12 1.7 0.8 ~ 3.1 0/ 12 2.8 1.7 ~ 1.4 0/ 12

ERRREIEAE G [s S (mg,1) 2 1~ 5 0/ 12 3 1~ 6l 0/ 12 9 3~ 24 0/ 24
RIB i RER (MPN,/100m1) 1. 403 3.3E01 ~ 7.0E03[ 11/ 12 7. 4E03 1. 7E02 ~ 2.2804| 9/ 12
n —~F Y Ul R (mg,/1) ND 0/ 4
R Fx (mg,/1) 1.1 0.87 ~ 1.3 12/ 12 1.7 1.0 ~ 2.1| 12/ 12
B (mg,1) 0. 060 0.030 ~ 0.093| 12/ 12 0.12 0.082 ~ 0.18) 12/ 12
A (g /1) 0. 002 0.001 ~ 0.005| 0/ 4 0. 003 0.002 ~ 0.005| 0/ 12 0. 008 0.004 ~ 0.013] 0/ 12
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2[ < o001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 6f < 0.005 < 0.005 0/ 6
Al 7 7 2 (mg,/1) < 0. 04 < 0.04 0/ 2| < 0.04 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 6
HKER (mg1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1 ND ND 0/ 1
vrunAsy (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 4
DAk B (mg1) < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1) < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 4
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1) < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg1) < 0.0005 <€0. 0005 0/ 4] < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1) < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1) < 0.002 < 0.002 o/ 2/ < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1) < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 4
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
Ny Y (mg1) < 0.001 < 0.001 o/ 2/ < 0.00 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 0.96 0.76 ~ L1l 0/ 4 1.1 L1~ 16| 0/ 4
R 4 (mg/1)
5 (mg1) < 0.1 < 0.1 0/ 4] < 0.1 < 0.1 0/ 4
139 # (mg,/1) 0.02] < 0.02 ~ 0.02] 0/ 2 0.03] < 0.02~ 0.03) 0/ 4
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FuEP IR (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 x ) — Vi (mg,/1) < 0.01 0/ 4
Hilx (mg,/1) < 0.01 0/ 4
B (ARAE) * (mg,/1) 0.23 0.16 ~ 0.27] 4/ 4
vy () * (mg,1) 0. 05 0.04 ~ 0.07[ 4/ 4
VAP (mg,/1) < 0.02 0/ 4
(mg/1)
(mg,/1)
ZOMIEA F R CEERED % (mg,/1)
TOCH (mg,/1)
ol (%) 1 1~ 2[12/ 12 1 1~ 924/ 24
AR Fx (ms/m) 11 7.4~ 17 12/ 12
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1) 200 12 ~ 750 6/ 6 820 69 ~ 2900| 4/ 4 300 49 ~ 410 4/ 4
FEA A SR TS A (mg,/1)




SRR 2 V4R JEE

KR i 2

I CE o] HUI
HEHA | %O A) ki (A) L (B)

Bl H HE T S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.7 7.5 ~ 7.9 0/ 4 7.6 7.4 ~ 8.1 0/ 24 7.5 6.9 ~ 7.8] 0/ 12
DO (mg,1) 11 10 ~ 1 o/ 4 10 8.1 ~ 12| 0/ 24 9.7 7.6 ~ 12| 0/ 12
BOD (mg1) 0.8 < 0.5 ~ Lol 0/ 4 1.0 0.5 ~ 1.5 0/ 24 1.5 0.8 ~ 2.7 0/ 12
BOD (F B 75%i) 0.9 1.1 1.8
coD (mg1) 2.7 1.6 ~ 1.2 0/ 12 2.6 1.2 ~ 3.71 0/ 12

ERRREIEAE G [s S (mg,1) 5 1~ 9| o/ 4 9 3~ 17| 0/ 24 6| < 1~ 200 0/ 12
RIB i RER (MPN,/100m1) 7.6E03 7.0E02 ~ 1L7E04[ 3/ 4 9. 2803 7.9E02 ~ 2.2804| 11/ 12 1. 304 1. TE03 ~ 3.3804) 7/ 12
n —~ %l R (mg,/'1)

R Fx (mg1) 1.5 1.0 ~ 1.8] 12/ 12 1.5 1.3 ~ L7l 4/ 4
B (mg,1) 0. 093 0.071 ~ 0.13) 12/ 12 0. 067 0.034 ~ 0.081) 4/ 4
A (mg1) 0. 009 0.005 ~ 0.013] 0/ 12 0. 005 0.002 ~ 0.007| 0/ 4
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2[ < o001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
4l (mg,/1) < 0.005 < 0.005 0/ 6f < 0.005 < 0.005 0/ 2
Al 7 7 2 (mg,/1) < 0. 04 < 0.04 0/ 2| < 0.04 < 0.04 0/ 2
it (mg,/1) < 0.005 < 0.005 0/ 6f < 0.005 < 0.005 0/ 2
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
vrunAsy (mg/'1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
DAk B (mg1) < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1) < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1) < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1) < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1) < 0.002 < 0.002 o/ 2/ < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1) < 0.0005 <0. 0005 0/ 4f < 0.0005 <€0.0005 0/ 4
1, 3—Ysnusn~y (mg,/1) < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT7Ah (mg/1) < 0.0006 <€0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
DA (mg1) < 0.0003 <0.0003 o/ 2| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
Ny Y (mg1) < 0.001 < 0.001 o/ 2/ < 0.00 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg1) 1.2 0.91 ~ 1.4 0/ 4 1.1 0.93 ~ L2f o/ 2
Al 2 (mg,/1) 0. 027 0.025 ~ 0.029] 2/ 2
5 (mg1) < 0.1 < 0.1 0/ 4] < 0.1 < 0.1 0/ 2
139 # (mg,/1) 0.03 0.02 ~ 0.03] 0/ 4 0.02] < 0.02 ~ 0.02| 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FuEP IR (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
=l (mg/1) 0.003 0.002 ~ 0.004| 2/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
ER (mg1) 0.08 0.06 ~ 0.09[ 0/ 2
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1) < 0.02 0/ 2
(mg,1) 0.10 0.07 ~ 0.16| 1/ 4
(mg,/1)
ZOMIEA F R CEERED % (mg,/1)
TOCH (mg,/1)
ol (%) 2| < 1~ 3 3/ 4 1 1~ 924/ 24
AR Fx (ms/m) 24 14 ~ 45[ 12/ 12
ClAFr* (mg,1) 8 6 ~ 10| 4/ 4
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1) 550 23 ~ 1900 4/ 4 910 220 ~ 2800| 4/ 4
F& A A L I (mg1) 0. 08 0.01 ~ 0.12| 2/ 2




SERR2UAEEE AR FE SR

[OIIES KR KT Kl
WA )it © — I ©) 75 i Q)

Bl H HE T S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.2 6.7 ~ 7.5 0/ 12 7.6 7.3 ~ 8.3 0/ 24 8.0 6.9 ~ 9.5 0/
DO (mg,/1) 6.9 5.7 ~ 8.4 0/ 12 9.1 6.9 ~ 12| 0/ 24 10 5.7 ~ 18] 0/
BOD (mg1) 2.4 1.3 ~ 1.6 0/ 12 1.6] < 0.5 ~ 1.3] 0/ 24 2.8 0.8 ~ 1.7 0/
BOD (F B 75%i) 2.5 1.8 1.4
coD (mg,1) 3.8 2.6 ~ 1.8 0/ 12 3.9 2.7 ~ 5.1 0/ 12 5.2 2.1 ~ 9.3[ 0/

ATREREEEA GU)ID [S S (mg/1) 5| < 1~ 10l 0/ 12 9 4~ 18[ 0/ 24 7 2~ 18] 0/

ORI B RE R (MPN,/100m1)
n —~F Y Ul R (mg,/1)
R Fx (mg1) 3.5 1.9 ~ 5.0 12/ 12 1.6 1.4 ~ 2.0 4/
B (mg,1) 0.27 0.19 ~ 0.35| 12/ 12 0. 081 0.060 ~ 0.11| 4/
A (mg1) 0.018 0.006 ~ 0.026] 0/ 4 0.012 0.005 ~ 0.025| 0/ 12
HREIY A (mg/'1) < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2
4l (mg,/1) < 0.005 < 0.005 0/ 6f < 0.005 < 0.005 0/
L PR (mg1) < 0. 04 < 0.04 0/ 2
it (mg,/1) < 0.005 < 0.005 0/ 6f < 0.005 < 0.005 0/
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
vrunAsy (mg/'1) < 0.002 < 0.002 0/ 2
VAL R (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1) < 0.0004 <0.0004 0/ 4
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1) < 0.004 < 0.001 0/ 2

e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1) < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg1) < 0.002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) 0.0006| < 0.0005 ~ 0.0008] 0/ 4
1, 3—Ysnusn~y (ng/1) < 0.0002 <0.0002 0/ 2
FUT A (mg/1) < 0.0006 <0.0006 0/ 2
A (mg1) < 0.0003 <€0. 0003 0/ 2
FASRYHNT (mg,/1) < 0.002 < 0.002 0/ 2
NPy (mg1) < 0,001 < 0.001 0/ 2
Ly (mg/1) < 0.002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 2.7 1.7 ~ 3.5 0/ 1
R 4 (mg/1)
o (mg1) < 0.1 < 0.1 0/ 4 0.1] < 0.1~ 0.1] 0/
139 # (mg,/1) 0.04 0.03 ~ 0.04) 0/ 2 0.04 0.03 ~ 0.05| 0/ 4
VAR=F: VN (mg,/1)

KAEEEERER (7 —1 (mg/1)

RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FuEP IR (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)

HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg1) 0. 006 0.005 ~ 0.007[ 2/ 2 0.001[ < 0.001 ~ 0.001| 1/
EYTT (mg/1)
TrFEY (mg/1) 0. 0003 0.0003 ~ 0.0004[ 0/ 2
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
ER (mg1) 0. 06 0.05 ~ 0.06) 0/ 2
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1) 0.01] < 0.01 ~ 0.01f 1/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg/1)
DATHEE S Bx (mg,/1)

ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
ol (%) 1 1~ 824/ 24
TR (ms/m) 79 61 ~ 100f 12/ 12 17 13 ~ 21| 6/
ClAFr* (mg,1) 7 6 ~ 7| 2/
JEET ) ak (ug/1) 25 4~ 86| 4/
S AT R i B Ao (f#,/100m1) 660 50 ~ 2100( 4/ 4
A A FRH A (mg,/1) 0. 06 2/




SRR 2 V4R JEE

USEFUES

&

[OIIES HER
R IR (B)

HEFH HE A 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R w/n
p 7.5 7.0 ~ 7.9 0/ 12
DO (mg,/1) 8.8 5.6 ~ 13[ 0/ 12
BOD (mg1) 2.4 11~ 1.2| 3/ 12
BOD (F B 2 75%() 2.9
CcCOD (mg,/1) 3.8 2.0 ~ 5.3 0/ 12

ATREREEEA GU)ID [S S (mg/1) 11 3~ 19[ 0/ 12
NS (MPN,/100m1) 6. 8E03 1. TE03 ~ 3.3804) 3/ 12
n —~F Y Ul R (mg,/1)

R Fx (mg1) 1.7 1.5 ~ L8| 4/ 4
ﬁxik%%* (mg,1) 0. 096 0. 066 ~ 0.14) 4/ 4
A (mg1) 0. 001 0.001 ~ 0.005| 0/ 4
(mg/1)
= (mg,/1)
8 (mg/1)| < 0.005 < 0.005 0/ 2
AP (mg,/1)
i3 (mg/1)] < 0.005 < 0.005 0/ 2
HKER (mg,/1)
TF KR (mg,/'1)
PCB (mg1)
DYA=:=F¥ 8% (mg,/'1)
V0 Al k3 (mg,/1)
1, 2 VAR=E (mg,1)
1, 1-YrmrpxFLy (mg,/1)
VA—1, 2—V/runxFlLr (mg,1)
TR H 1, 1, 1—h)Zmuxzgr (mg,/1)
1, 1, 2—hkVsmpxy (mg,/1)
M) ZmpxzFLy (mg,/1)
FhFs/mp=FLy (mg,/'1)
1, 3—Y/unra~y (mg/1)| < 0.0002 <0. 0002 0/ 2
FUI A (mg/1)| < 0.0006 <0. 0006 0/ 2
ey (mg/1)| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2
NPy (mg1)
L (mg,/1)
T ARTEEE R R OV AR R R (mg,/1)
A A (mg/1)
SoFk (mg,/1)
ERES (mg,/1)| < 0.02 < 0.02 0/ 2
VAR=F: VN (mg,/1)
KA EGEHHA | 7=/ —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
HLE =L ) v — (mg,/1) <0. 0002 0/ 1
TEsmBek Ry (ug/1) < 0.04 0/ 1
1, A=VF x4 (mg,/1) < 0.005 0/ 1
e (mg,/1) 0.29 1/ 1
vy (mg,/1) <0. 0002 0/ 1
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T ES (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) ()
TERUR I R (ms/m) 16 12 ~ 20| 12/ 12
ClAFr* (mg,/1) 8 2/ 2
JEET ) ak (ug/1) 20 5~ 48| 4/ 4
S AT R i B Ao (f#,/100m1) 550 180 ~ 1700] 6/ 6
A A o G PE A (mg,/1)




SRR 2 V4R JEE

KR i 2

[OIIES )1 B ECIlEE +W§)H4—'HL
HEHA |HEHR K (A) —3tm (B) Zih i (B)

Bl H BEfE S Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n 4:1’3 N K w/n
p 7.9 7.3 ~ 8.6 1/ 12 7.7 7.2 ~ 8.2l 0/ 12 7.5 7.2 ~ 7.8] 0/ 4
DO (mg,1) 11 8.4 ~ 15 0/ 12 11 8.5 ~ 14| 0/ 12 11 10 ~ 12 0/ 4
BOD (mg1) 0.9 0.6 ~ L4 0/ 12 1.0 0.6 ~ 1.5 0/ 12 0.9 0.6 ~ Lol 0/ 4
BOD (F B 75%i) 1.1 1.2 1.0
coD (mg1) 2.5 1.8 ~ 3.8] 0/ 12 2.7 2.0 ~ 3.5 0/ 12 2.7 2.4 ~ 2.9 0/ 4

ERRREIEAE G [s S (mg,1) 2 1~ 8| 0/ 12 3| < 1~ 9 0/ 12 3 1~ 6l 0/ 4
RIB i RER (MPN,/100m1) 1. 4E01 1.9E03 ~ 9.2E04f 12/ 12 1. 2E04 2. 4E03 ~ 3.5E04[ 7/ 12 2. 6E03 3.3E02 ~ 1.9E03[ 0/ 4
n —~% 4 Ll T (mg1)

R Fx (mg,/1) 0.98 0.79 ~ L2f 4/ 4 1.1 0.83 ~ L3 4/ 4 1.1 0.70 ~ L6l 4/ 4
B (mg,1) 0. 052 0.038 ~ 0.069| 4/ 4 0. 056 0.042 ~ 0.079| 4/ 4 0. 060 0.034 ~ 0.082 4/ 4
A (g /1) 0. 005 0.002 ~ 0.007| 0/ 4 0. 006 0.003 ~ 0.008] 0/ 4 0. 007 0.004 ~ 0.009] 0/ 4
R A (mg,/1)| < 0.001 < 0.001 0/ 2[ < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
g (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
Al 7 7 2 (mg/1)| < 0. 01 < 0.04 0/ 2f< 0.04 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 14
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
vrunAsy (mg,/1) < 0.002 < 0.002 0/ 2
VAL R (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1) < 0.004 < 0.001 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1) < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg1) < 0.002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <0. 0005 0/ 2
1, 3—Ysnpuunrsuly (ng,/1)] < 0.0002 <0. 0002 0/ 2 < 0.0002 <0.0002 0/ 2
FUT AN (mg,/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2
FARUAHNT (mg,/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
NPy (mg1) < 0,001 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2
A% 3R R O R A 2 R (mg,/1) 0.63 0.60 ~ 0.65| 0/ 2
AR 5 (mg,/'1) 0.012 2/ 2
SoF (mg1) 0.1 0.1~ 0.2| 0/ 4 0.1 0.1 ~ 0.2] 0/ 4
139 # (mg,/1) 0.02 0.02 ~ 0.03) 0/ 4 0.02] < 0.02 ~ 0.03] 0/ 4
VACR=E VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1) < 0.004 0/ 1
1, 2—Y/ansasy (mg,/1) < 0.006 0/ 1
p—YrmuRy¥y (mg1) < 0.03 0/ 1
A XY FF (mg,/1) <0.0008 0/ 1
HAT V) (mg,/1) <0. 0005 0/ 1
Zxz=FnFA+r (MEP) (mg,/1) <0.0003 0/ 1
AV TaFET v (mg1) < 0.004 0/ 1
¥ v () (mg,/1) < 0.004 0/ 1
smrnrgu=/, (TPN) (ng,/1) < 0.004 0/ 1
(mg,/1) <0.0008 0/ 1
(mg,/1) <0. 0006 0/ 1
Y/ uuRA (DDVP) (mg,/1) < 0.001 0/ 1
HEECHIH Zx)7HNT (BPMC) (mg,/'1) < 0.002 0/ 1
A 7u~rkA (1BP) (mg,/1) <0.0008 0/ 1
san=tr7=xr (CNP) * (mg1) <€0. 0005 0/ 1
[ (mg,/1) < 0.06 0/ 1
FoLy (mg,/1) < 0.04 0/ 1
THNABEY T F L ~F (mg,/1) < 0.006 0/ 1
=k (ng,/1) < 0.001 0/ 2 < 0.001 0/ 2
EYTF (mg,/1) < 0.007 0/ 1
TUFEY (mg1) <€0. 0002 0/ 1
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
ER (mg1) < 0,02 0/ 2
vy (mg,/1) <0. 0002 0/ 1 <0.0002 0/ 4
FEVEYY - (mg,/1)
Hilx (mg,/1) < 0.01 0/ 2 < 0.01 0/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
T = T R (mg,1) 0. 08 0.05 ~ 0.08) 2/ 4
DATHEE S Bx (mg,/1)
DI A AL b ) R (mg/1)
TOCH (mg,/1)
ol (%) 2 1~ | 7/ 12 3| < 1~ 6[ 10/ 12 2 1~ 5| 4/ 4
BRAGE R (ms/m) 7.8 5.3 ~ 12| 12/ 12 9.1 6.0 ~ 1|12/ 12
ClAFr* (mg,1) 8 4~ 12 4/ 4
JEET ) ak (ug/1) 1 1~ 2| 4/ 4 2| < 1~ 4| 3/ 4
S A A KB 1 B B (f#,100m1) 240 75 ~ 520 6/ 6 410 260 ~ 600] 6/ 6 390 220 ~ 500| 4/ 4
[ A A o FE IS (mg1) 0. 05 0.04 ~ 0.05| 2/ 2 0.05 0.04 ~ 0.05| 2/ 2




SRR 2 V4R JEE

KR i 2

)11 4 )| i SN NI
HEMAA | K (B) JIATHR (B) 357 (B)

HEFH BEfE S Jie/ME~ T K E m/n -E) s/ IME~ IR n/n SEE) N KA w/n
p 7.5 7.1 ~ 8.4 0/ 12 7.6 7.4 ~ 7.9l 0/ 6 7.7 7.2 ~ 8.1 0/ 12
DO (mg,1) 11 9.1 ~ 14| 0/ 12 11 9.0 ~ 13| 0/ 6 11 8.1 ~ 13[ 0/ 12
BOD (mg1) 1.1 0.6 ~ 16| 0/ 12 1.0 0.5 ~ 2.0 0/ 6 1.0 0.6 ~ 15| 0/ 12
BOD (F B 75%i) 1.4 1.5 1.1
coD (mg1) 2.8 1.9 ~ 1.0 0/ 12 2.9 1.5 ~ 1.0 0/ 6 2.6 1.7 ~ 3.8 0/ 12

ERRREIEAE G [s S (mg,1) 2 1~ 6| 0/ 12 5 1~ 9 0/ 6 1 1~ 9| 0o/ 12
RIB i RER (MPN,/100m1) 3. 6E03 3.3E02 ~ 1.3E04[ 2/ 12 1. 6E04 3.3E02 ~ 5.4E01[ 3/ 6 2. 6E01 1. TE03 ~ 1.6E05[ 9/ 12
n —~F Y Ul R (mg,/1) ND 0/ 4
R Fx (mg,/1) 1.4 0.89 ~ 1L.9f12/ 12 0.83 0.68 ~ 0.96| 4/ 4
B (mg,1) 0. 099 0.045 ~ 0.20| 12/ 12 0.041 0.029 ~ 0.055| 4/ 4
A (g /1) 0. 009 0.004 ~ 0.016] 0/ 12 0. 006 0.004 ~ 0.007| 0/ 4
HREIY A (mg/D| < 0.001 < 0.001 0/ 2 < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 6 < 0.005 < 0.005 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2 <004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 6 < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2 < 0.0005 <0. 0005 0/ 2
TF KR (mg,/'1)

PCB (mg1) ND ND 0/ 1
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
DAk B (mg/1)| < 0.0002 <€0. 0002 0/ 2 < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2 <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <0. 0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1)| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
NPy (mg/1)| < 0.001 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2 <0002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0.93 0.52 ~ L4 0/ 4
Al 2 (mg,/1) 0.033 0.013 ~ 0.049| 4/ 4
5 (mg1) 0.1 0.1 0/ 4 0.2 0.1~ 0.2 0/ 2
139 # (mg,/1) 0.03 0.03 ~ 0.04) 0/ 4 0.02 0.02 0/ 2
VACR=E VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A% v o8l HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg,/1) < 0.001 0/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 x ) — Vi (mg,/1) < 0.01 0/ 4
Hilx (mg/1) < 0.01 0/ 4
B (Ffatt) * (mg,/1) 0.10 0.02 ~ 0.14] 4/ 4
~ Ay (WRAREE) * (mg,/1) < 0.02 0/ 14
s o bk (mg,/1) < 0.02 0/ 4
(mg,1) 0.08 0.05 ~ 0.08| 2/ 4
(mg,/1)
ZOfIEA AR Y R vk (mg,/1) 0. 082 0.046 ~ 0.14) 4/ 4
TOCH (mg,/1)
) () 2 1~ 410/ 12
BRAGE R (ms/m) 7.9 7.3 ~ 8.5 6/ 6 8.2 5.6 ~ 10| 12/ 12
ClAFr* (mg,1) 11 5~ 17| 4/ 4
VA= Py FE] (ug/l)
S A A KB 1 B B (1#,/100m1) 1700 220 ~ 6000[ 4/ 4 160 110 ~ 980 6/ 6
FEA A SR TS A (mg,/1)
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HIEHA IR (B) HER (B) A (A)

HEFH BEfE S Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.5 7.0 ~ 7.9 0/ 12 8.0 7.2 ~ 8.8 2/ 12 7.7 7.2 ~ 8.2 0/ 12
DO (mg,1) 11 8.6 ~ 14| 0/ 12 11 9.0 ~ 14| 0/ 12 11 9.2 ~ 15 0/ 12
BOD (mg1) 1.0 0.5 ~ 1.3 0/ 12 1.0 0.6 ~ 14| 0/ 12 1.0 0.5 ~ L4 0/ 12
BOD (F B 75%i) 1.2 1.1 1.3
coD (mg1) 2.2 1.3 ~ 2.9 0/ 12 2.0 1.4 ~ 2.4 0/ 12 2.0 1.3 ~ 2.4 0/ 12

ERRREIEAE G [s S (mg,/1) 2| < 1~ 5 0/ 12 2 1~ s[ 0/ 12 3 1~ 0] o/ 12
RIB i RER (MPN,/100m1) 1. 9E04 1. TE03 ~ 5.4804[ 7/ 12 1. 2E04 1. 5E04| 6/ 12 2. 6E01 1. TE03 ~ 9.2E04f 12/ 12
n —~ %l R (mg,/'1)

R Fx (mg,/1) 1.0 0.79 ~ 1L.3[ 4/ 4 0.88 0.64 ~ L2f 4/ 4 1.9 1.3 ~ 2.4 4/ 4
B (mg,1) 0. 045 0.034 ~ 0.058] 4/ 4 0.042 0.034 ~ 0.060| 4/ 4 0. 048 0.032 ~ 0.059| 4/ 4
A (g /1) 0. 025 0.014 ~ 0.031] 0/ 4 0.012 0.006 ~ 0.018) 0/ 4 0.019 0.013 ~ 0.029] 0/ 4
HREIY A (mg/1)]| < 0.001 < 0.001 0/ 2| < o0.001 < 0.001 0/ 2[ < o001 < 0.001 0/ 2
BTV (mg,/1)
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2[< o001 < 0.04 0o/ 2[< 004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1)
CrunAsy (mg/ 1| < 0.002 < 0.002 0/ 2
DAk B (mg/1)| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1)| < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1)| < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <€0.0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 0/ 2
FhrIsnnTFLy (mg/1)| < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
DA (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <0. 0003 0/ 2 < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
NPy (mg1)
Ly (mg/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
T ARTEEE R R OV AR R R (mg,/1)
R 4 (mg/1)
5 (mg1) 0.1 0.1 0/ 2 0.1 0.1 0/ 2 0.2 0.1 ~ 0.2[ 0/ 2
139 # (mg,/1) 0. 05 0.03 ~ 0.07) 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= bk (mg1) 0.001 < 0.001 ~ 0.001[ 1/ 2 < 0.001 0/ 2 0.001 2/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
(mg/1)
(mg,/1)
ZOMIEA F R CEERED % (mg,/1)
TOCH (mg,/1)
) ()
BRAGE R (ms/m) 7.9 6.2 ~ 10| 12/ 12 9.6 8.0 ~ 12[12/ 12 12 9.9 ~ 14| 12/ 12
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S AT R i B Ao (f#,/100m1) 560 70 ~ 1600[ 6/ 6
FEA A SR TS A (mg,/1)
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[OIIES EI =T I T
I RE A E (AA) R (A) HEBEE (A)

Bl H HE T Jie/ME~ T K E m/n -E) Jic/ME~ K AE n/n S s/ ME~ KA w/n
p 7.1 6.9 ~ 7.4 0/ 12 7.7 7.4 ~ 8.1 0/ 12 7.6 7.4 ~ 7.9 0/ 12
DO (mg,1) 10 8.9 ~ 12[ 0/ 12 11 9.3 ~ 13| 0/ 12 11 8.5 ~ 12| 0/ 12
BOD (mg1) 0.5 0.5 ~ 0.6 0/ 12 0.6 0.5 ~ 1.0l 0/ 12 0.6 0.5 ~ 0.8 0/ 12
BOD (FEs:75%f) | < 0.5 0.7 0.6
coD (mg1) 1.0 0.5 ~ 2.2 0/ 12 1.4 0.9 ~ 2.1 0/ 12 1.3 0.5 ~ 2.1 0/ 12

ERRREIEAE G [s S (mg,1) 1 2| 0/ 12 3 1~ s[ 0/ 12 3 1~ 0] o/ 12
RIB i RER (MPN,/100m1) 3. TE03 1.3E04f 12/ 12 2E04 1. 4E03 ~ 5.4E04( 12/ 12 9. 9E03 1. 3803 ~ 3.5E04f 12/ 12
n —~F Y Ul R (mg,/1)

I Hx (g /1) 0.80 0.68 ~ 0.92| 1/ 4 0.59 0.53 ~ 0.64] 4/ 4
B (mg,1) 0. 040 0.023 ~ 0.059| 4/ 4 0.028 0.017 ~ 0.036| 4/ 4
A (mg/1)| < 0.001 < 0.001 0/ 1 0.003 0.002 ~ 0.004| 0/ 4 0. 002 0.002 ~ 0.003| 0/ 4
HREIY A (mg/'1) 0.001 < 0.001 0/ 2| < o0.001 < 0.001 0/ 2[ < o001 < 0.001 0/ 2
BTV (mg/1) ND ND 0/ 2 ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0o/ 2| < 0.005 < 0.005 0/ 4f < 0.005 < 0.005 0/ 2
ANl 7 7 (mg/ 1| < 0.01 < 0.04 0/ 2[< o001 < 0.04 0o/ 2[< 004 < 0.01 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2[ < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1) ND ND 0/ 1
vrunAsy (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
VAL R (mg1) < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1) < 0.0004 <0.0004 0/ 2 < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg/1) < 0.004 < 0.001 0/ 2[ < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1) < 0.0006 <0.0006 0/ 2 < 0.0006 <€0.0006 0/ 2
r)smRIFLY (mg/1) < 0.002 < 0.002 o/ 2/ < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <0. 0005 0/ 2 < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (mg,/1) < 0.0002 <0. 0002 0/ 2 < 00002 <0. 0002 0/ 2
FUT7Ah (mg/1) < 0.0006 <€0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
DA (mg1) < 0.0003 <0.0003 o/ 2| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
Ny Y (mg1) < 0.001 < 0.001 o/ 2/ < 0.00 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2[ < 0002 < 0.002 0/ 2
A% 3R R O R A 2 R (mg,/1) 0.59 0.57 ~ 0.60[ 0/ 2 .19 0.40 ~ 0.58) 0/ 2
AL (mg,/1) 0.021 0.015 ~ 0.027| 2/ 2 0. 009 0.008 ~ 0.010| 2/ 2
o (mg/1)| < 0.1 < 0.1 0/ 2| < 0.1 < 0.1 0/ 2| < 0.1 < 0.1 0/ 2
139 # (mg/ ]| < 0.02 < 0.02 0o/ 2| < 0.02 < 0.02 0/ 2[< o002 < 0.02 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrnrgu=/, (TPN) (ng,/1)
(mg/1)
(mg,/1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
LA (mg,/1) 0.02 0.02 ~ 0.02| 0/ 2
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T PEE H (mg,1)
DATHEE S Bx (mg,/1)
DI A AL b ) R (mg/1)
TOCH (mg,/1)
ol (%) 3 1~ 1| 2/ 12 3 1~ 6l 9/ 12 1 1~ 18[ 12/ 12
BRAGE R (ms/m) 3.6 2.2 ~ 1.4 12/ 12 8.2 1.9 ~ 9.5 12/ 12 8.0 5.8 ~ 9.2 12/ 12
ClAArx* (mg,/'1)
JBBET f)Lax (ug/1) 1 1~ 1 2/ 4
S A A KB 1 B B (1#,/100m1) 54 2 ~ 150 6/ 6 100 26 ~ 310 6/ 6
WA A SR 3 A e (mg1) 0.10 0.02 ~ 0.17| 2/ 2
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B H R | R (AA) BB (AA) BB T )
HEFH BEfE 22 Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S St/ ME~ e R w/n
p 7.6 7.4 ~ 7.8] 0/ 12 7.6 7.3 ~ 7.7 0/ 12 7.7 7.5 ~ 8.0l o/
DO (mg,/1) 11 9.5 ~ 13[ 0/ 12 11 9.7 ~ 12| 0/ 12 10 8.9 ~ 1| o/
BOD (mg1) 0.5[ < 0.5 ~ 0.6 0/ 12 0.5 0.5 ~ 0.7] 0/ 12 0.6 5~ 0.9/ 0/
BOD (FEs:75%f) | < 0.5 < 0.5 0.8
coD (mg,1) 0.9 < 0.5 ~ 2.5 0/ 12 1.0 0.6 ~ 2.8] 0/ 12 1.6 0.7 ~ 2.3 0/
ERRREIEAE G [s S (mg/1) 3| < 1~ 22| 0/ 12 3 1~ 16| 0/ 12 3 1~ 10[ o/
RIB i RER (MPN,/100m1) 1. 303 3.3E02 ~ 1.9803[ 12/ 12 2. 6E03 1. 9E02 ~ 9.4E03| 12/ 12
n —~F Y Ul R (mg,/1)
R Fx (mg,/1) 0.47 0.35 ~ .59 4/ 4
Lrfex (mg,/1) 0.014 0.009 ~ 0.027| 4/ 4
A (g /1) 0. 004 0.001 ~ 0.009] 0/ 4 0. 009 0.006 ~ 0.013 0/ 4
R A (mg,/1)| < 0.001 < 0.001 0/ 4f < 0.001 < 0.001 0/ 4
LTV (mg1) ND ND 0/ 2 ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 4f < 0.005 < 0.005 0/
Al 7 7 2 (mg/1)| < 0. 01 < 0.04 o/ 2[< 004 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 4f < 0.005 < 0.005 0/
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1)
BYAR=F ¥ % (mg,/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <0.0004 0/ 2| < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2[ < 0.002 < 0.002 0/ 2
VA—1, 2—V/uaxFL (mg,/1)| < 0.004 < 0.004 0/ 2| < 0.004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 o/ 2| < 0.002 < 0.002 0/ 2
FhrIrmREFLY (mg,/1)| < 0.0005 <0. 0005 0/ 2| < 0.0005 <0. 0005 0/ 2
1, 3—Y/unra~y (ng/1) < 0.0002 <0.0002 0/ 2
FUT A (mg,/1) < 0.0006 <0.0006 0/ 2
A (mg1) < 0.0003 <€0. 0003 0/ 2
FASRYHNT (mg,/1) < 0.002 < 0.002 0/ 2
NPy (mg1) < 0,001 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2
A% 3R R O R A 2 R (mg,/1) 0.24 0.22 ~ 0.25| 0/ 2
Al 2 (mg,/1) 0. 007 0.005 ~ 0.008] 2/ 2
o (mg1) 0.1 0.1 0/ 2
139 # (mg,/1) 0. 06 0.03 ~ 0.09] 0/ 2 0.05 0.03 ~ 0.07] 0/ 2
VACR=E VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
¥ v () (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
=k (ng,/1) < 0.001 0/ 2
EYTT (mg/1)
TUFEY (mg1) 0. 0002 0/ 2
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg/1)
ER (mg1) < 0,02 0/ 2
vy (mg/1)
7 x ) — Vi (mg,/1)
ix (mg,/1) < 0.01 0/ 2
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
T =T M Hex (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
ol (%) 6| < 1~ 13[ 5/ 12 1 1~ 11| 8/ 12
BAUREE (ms/m) 8.6 1.4 ~ 1312/ 12 9.3 5.4 13[12/ 12
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 2 1~ 2| 1/ 4
S A A KB 1 B B (f#,100m1)
A A o G PE A (mg,/1)
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HEH A |E AT (A) =) A T (AA) BB T (A)

HEFH BEfE 22 Ji /M~ g KA m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R m/n
p 7.8 7.3 ~ 89 1/ 6 7.7 7.5 ~ 7.8] 0/ 12 7.3 7.1 ~ 7.7 0/ 12
DO (mg,/1) 10 9.1 ~ 12 0/ 6 11 9.5 ~ 13| 0/ 12 11 9.0 ~ 13[ 0/ 12
BOD (mg1) 0.6[ < 0.5 ~ 0.8 0/ 6 0.5 < 0.5 ~ 0.8] 0/ 12 0.8 < 5~ 1.3 0/ 12
BOD (F B 2 75%() 0.8 < 0.5 0.9
COD (mg,/1) 1.4 0.5 ~ 2.1 0/ 6 L1 < 0.5 ~ 3.9 0/ 12 1.6 0.9 ~ 2.5| 0/ 12

ERRREIEAE G [s S (mg,1) 1] < 1~ 2l 0/ 6 2| < 1~ 10| 0/ 12 3| < 1~ 24 0/ 12
NS (MPN,/100m1) 1. 2E04 3.3E03 ~ 2.4E04[ 6/ 6 2. 8E03 2. TE02 ~ 7.9E03[ 12/ 12 3. 1E04 2. 4E03 ~ 1.6E05[ 12/ 12
n —~F Y Ul R (mg,/1)

AEE Fx (mg,/1)
i (mg/1)
A (mg,/1) 0.001| < 0.001 ~ 0.001] 0/ 4 0.003| < 0.001 ~ 0.007| 0/ 4 0.003] < 0.001 ~ 0.007| 0/ 4
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2
LTV (mg1) ND ND 0/ 2
§ (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
AN 7 (mg1) < 0,04 < 0.04 0/ 2
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1)
D A=2=F 8 (mg/1)] < 0.002 < 0.002 0/ 2
DUSiAL R (mg/1)| < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg/1)| < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2
vA—1, 2—Y/uuxFLy (mg/1)| < 0.004 < 0.004 0/ 2

e H 1, 1, 1—h)yppxzyy (mg,/1)| < 0.0005 <0. 0005 0/ 2
1, 1, 2— kY Zpo=zgy (mg/1)| < 0.0006 <0. 0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 0/ 2
Fh7/un=FL v (mg/1)] < 0.0005 <0. 0005 0/ 2
1, 3—Y/unra~y (mg,/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0.0002 0/ 2| < 0.0002 <0.0002 0/ 2
FUT A (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0.0006 0/ 2| < 0.0006 <0. 0006 0/ 2
ey (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <€0.0003 0/ 2| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0,002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
NPy (mg1)
L (mg,/1)
A% 3R R O R A 2 R (mg,/1) 0. 36 0.30 ~ 0.42| 0/ 2
LA R % (mg,/1) 0.002| < 0.002 ~ 0.002| 1/ 2
o (mg1) < 0.1 < 0.1 0/ 2
129 # (mg/1)
VACR=E VN (mg,/1)

KA EGEHHA | 7=/ —1 (mg/1)

RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—YrmrmEr By (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
¥ v () (mg,1)
smrXr=,L (TPN) (mg,/1)
TuEYI R (mg/1)
EPN (mg1)
Y uLRA (DDVP) (mg/1)

HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
=k (ng,/1) < 0.001 0/ 2
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 x ) — Vi (mg,/1)
% (mg,/'1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
71 bk (mg,/1)
T =T M Hex (mg/1)
AT R R (mg,/1)

ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
ol (%) 1] < 1~ 1| 2/ 6 1f < 1~ 10| 5/ 12 1| < 1~ 24 8/ 12
BRAGEE (ms/m) 5.6 3.9 ~ 6.6 6/ 6 8.2 6.6 ~ 9.0 12/ 12 7.0 3.2 ~ 10| 12/ 12
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
A A FE TS A (mg,/1)
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HEH A |E AT (A) F/ANG & 2 (A)

HEFH HE A 22 Ji /M~ g KA m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R m/n
p 8.1 7.9 ~ 8.2 0/ 6 7.7 7.4 ~ 7.9 0/
DO (mg,/1) 10 9.6 ~ 12 0/ 6 9.2 8.5 ~ 10| 0/
BOD (mg1) 0.5[ < 0.5 ~ 0.5 0/ 6 0.6 0.5 ~ 0.7] 0/
BOD (FBe:75%f) | < 0.5 0.5
COD (mg,/1) 0.9] < 0.5 ~ 1.3[ 0/ 6 1.3 1.2 ~ 1.4 0/

ATREREEEA GU)ID [S S (mg/1) 2| < 1~ 1 0/ 6 1 1~ 1l 0/
NS (MPN,/100m1) 5. 0E03 2.2E02 ~ 2.2E04[ 1/ 6 1. TE03 2.3E01 ~ Eod| 3/
n =% R (mg,/1)

R Fx (mg1) 0.18 0.15 ~ 0.25( 4/
ékﬁ%* (mg,1) 0. 008 0.003 ~ 0.016| 3/
A (mg1) 0.001[ < 0.001 ~ 0.001] 0/ 4
(mg/1)
= (mg,/1)
8 (mg/1)| < 0.005 < 0.005 0/ 2
AP (mg,/1)
i3 (mg/1)] < 0.005 < 0.005 0/ 4
HKER (mg,/1)
TF KR (mg,/'1)
PCB (mg1)
DY ¥ 4 (mg,/'1)
V0 Al k3 (mg,/1)
1, 2 VAR=E (mg,1)
1, 1-YrmrpxFLy (mg,/1)
VA—1, 2—V/runxFlLr (mg,1)
TR H 1, 1, 1—h)Zmuxzgr (mg,/1)
1, 1, 2—hkVsmpxy (mg,/1)
M) ZmpxzFLy (mg,/1)
FhFs/mp=FLy (mg,/'1)
1, 3—Y/unra~y (mg/1)| < 0.0002 <0. 0002 0/ 2
FUI A (mg/1)| < 0.0006 <0. 0006 0/ 2
ey (mg/1)| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2
NPy (mg1)
L (mg,/1)
A 28 R % OV R A 28 (mg,/1)
A A (mg/1)
SoFk (mg,/1)
129 # (mg/1)
VAR=F: VN (mg,/1)
KA EGEHHA | 7=/ —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg/1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
Y uLRA (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNEY =T L ~F L (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
HLE =L ) v — (mg,/1) <0. 0002 0/ 1
TEsmBek Ry (ug/1) < 0.04 0/ 1
1, A=VF x4 (mg,/1) < 0.005 0/ 1
ER (mg1) < 0.02 0/ 1
vy (mg,/1) <0. 0002 0/ 1
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T ES (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
i () 1| < 1~ 2 4/ 6
TERUR I R (ms/m) 11 10 ~ 13 6/ 6 4.1 3.8 ~ 1.2] 4/
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 1 1~ 1 1/
S A A KB 1 B B (f#,100m1)
A A FE TS A (mg,/1)
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HE S [T (A) HEER S S (A) Bk &2 (A)

HEFH HE A S Jie/ME~ T K E m/n -E) s/ IME~ IR n/n S s/ ME~ KA w/n
p 7.4 7.3 ~ 5| 0/ 4 7.3 7.1~ 7.4] 0/ 7.2 7.2 ~ 7.3 0/ 6
DO (mg,/1) 9.8 9.1 ~ 1 o/ 4 9.2 8.5 ~ 10| 0/ 10 9.5 ~ 1| o/ 6
BOD (mg/ 1] < 0.5 < 0.5 0/ 4 0.5 0.5 ~ 0.6] 0/ < 0.5 < 0.5 0/ 6
BOD (FEs:75%f) | < 0.5 0.5 < 0.5
COD (mg,/1) 1.1 0.6 ~ L7l 0/ 4 1.3 0.6 ~ L7 0/ 1.1 0.5 ~ L7f o/ 6

ERRREIEAE G [s S (mg/1) 1] < 1~ 1] 0/ 4 1 1~ 1| o/ 2| < 1~ 5] 0/ 6
RIB i RER (MPN,/100m1) 1. 1E03 7.9E02 ~ 7.9803[ 2/ 4 1. 7E03 1.9E01 ~ 3.5E03[ 2/ 6. 0E02 1.9E01 ~ 9.4802[ 0/ 6
n —~F Y Ul R (mg,/1)

R Fx (mg,/1) 0.23 0.13 ~ 0.31] 4/ 0. 32 0.24 ~ 0.46| 4/ 4
B (mg,1) 0. 005 0.004 ~ 0.007| 4/ 0. 008 0.004 ~ 0.015| 4/ 4
Eix A (mg,/1) 0.001 < 0.001 ~ 0.001[ 0/ 4
HREIY A (mg,/1) < 0.001 < 0.001 0/ 2
BYT v (mg1) ND ND 0/ 2
8 (mg,/1) < 0.005 < 0.005 0/ 4
Al 7 7 2 (mg,/1) < 0. 01 < 0.04 0/ 2
Tt (mg,/1) < 0.005 < 0.005 0/ 2
HKER (mg1) < 0.0005 <€0. 0005 0/ 2
TF KR (mg,/'1)
PCB (mg1)
CrunAsy (mg,/1) <0002 < 0.002 0/ 2
VAL R (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0,002 < 0.002 0/ 2
YA—1, 2—Y/uunxFLv (mg,/1) <0004 < 0.004 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <€0.0006 0/ 2
F)smBaTzFLr (mg1) < 0,002 < 0.002 0/ 2
FhrIsnnTFLy (mg,/1) < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y (ng/1) < 0.0002 <0. 0002 0/ 2
FUI A (mg,/1) < 0.0006 <0.0006 0/ 2
vy (mg1) < 0.0003 <€0. 0003 0/ 2
FARINT (mg,/'1) < 0.002 < 0.002 0/ 2
NPy (mg1) < 0.001 < 0.001 0/ 4
L (mg,/'1) < 0.002 < 0.002 0/ 4
A% 3R R O R A 2 R (mg,/1) 0.22 0.18 ~ 0.25 0/ 2
T A 2 ok (mg/1) < 0.002 0/ 2
o (mg1) 0.1] < 0.1 ~ 0.1 0/ 2
139 # (mg,/1) <002 < 0.02 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FuEP IR (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg/1)
ER (mg1) 0.03 0.02 ~ 0.03[ 0/ 2
vy (mg/1)
7 = ) — Kk (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg/1)
DATHEE S Bx (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
i () < 1 0/ 4 3 1~ 71 6/ 6
ERURE (ms/m) 1.4 3.5 ~ B! 1.1 3.6 ~ 1.6] 4/ 5.4 1.5 ~ 6.2 6/ 6
ClAArx* (mg,/'1)
JEET ) ak (ug/1) 2 1~ 2| 2/ 1] < 1~ 1 1/ 4
S A A KB 1 B B (1#,/100m1) 5[ < 2 ~ 100 1/ 6
A A o G PE A (mg,/1)
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KR i 2

A ESPIE AR RN 5 L e AL
HEHA | K (AA) E AA) T4 D (A)

HEEH BEfE 22 St/ ME~ e K m/n 5] s /M~ 1‘§ m/n 22 St/ ME~ e R m/n
p 7.4 7.1 ~ 7.8] 0/ 12 7.6 7.0 ~ 9.1 2/ 12 7.3 7.2 ~ 7.5 0/ 6
DO (mg,1) 11 8.4 ~ 15 0/ 12 10 8.1 ~ 14| 0/ 12 11 9.3 ~ [ o/ 6
BOD (mg1) 0.6[ < 5~ Lol 0/ 12 0.7 < 0.5 ~ 14| 2/ 12 0.7 0.5 ~ L1 0/ 6
BOD (F B 75%i) 0.7 0.6 1.1
coD (mg1) 1.2 0.7 ~ 2.2 0/ 12 2.2 1.7 ~ 3.2 0/ 12 2.3 L1~ 1.2 0/ 6

ERRREIEAE G [s S (mg,/1) 2| < 1~ 6| 0/ 12 2| < 1~ 1f 0/ 12 1 1~ 19 0/ 6
RIB i RER (MPN,/100m1) 2. 303 1. 3802 ~ 1.3E04f 12/ 12 1. 4E03 1. 5E00 ~ 13504 7/ 12 2. 4E03 3.3E02 ~ 1.9803[ 1/ 6
n —~ %l R (mg,/'1)

R Fx (mg1) 0. 42 0.22 ~ 0.61| 4/ 4 0.30 0.19 ~ 0.49] 12/ 12 0. 66 0.42 ~ 0.97| 4/ 4
B (mg,/1) 0.016) < 0.003 ~ 0.032| 3/ 4 0.011 0.007 ~ 0.018| 12/ 12 0. 052 0.008 ~ 0.10) 4/ 4
A (mg,/1) 0. 004 0.001 ~ 0.010| 0/ 4 0. 005 0.002 ~ 0.010| 0/ 5
R A (mg,/1)| < 0.001 < 0.001 0/ 2[ < 0.001 < 0.001 0/ 6
LTV (mg1) ND ND 0/ 2 ND ND 0/ 6
ity (ng/1)| < 0.005 < 0.005 0/ 4f < 0.005 < 0.005 0/ 6
Al 7 7 2 (mg/1)| < 0. 01 < 0.04 o/ 2[< 004 < 0.04 0/ 6
(%3 (ng/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 6
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 6
T VR VKSR (mg,/1) ND ND 0/ 2
PCB (mg1) ND ND 0/ 2
vrau gy (mg,/1) < 0.002 < 0.002 0/ 2
DAk B (mg,/1) < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2
YZA—1, 2—Y/unxFLv (mg,/1) < 0.004 < 0.001 0/ 2
e H 1, 1, 1—hY)rmpzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg,/1) < 0.0006 <0.0006 0/ 2
F)smBaTzFLr (mg1) < 0.002 < 0.002 0/ 2
FhI/unxFLo (mg,/1) < 0.0005 <0. 0005 0/ 2
1, 3—Ysnpuunrsuly (ng,/1)] < 0.0002 <0. 0002 0/ 2 < 0.0002 <0.0002 0/ 2
FUT AN (mg,/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
ey (mg/1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <€0.0003 0/ 2
FARUAHNT (mg/1)] < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
NPy (mg1) < 0,001 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0.18 0.04 ~ 0.27| 0/ 12
Al 2 (mg,/1) 0.005| < 0.002 ~ 0.016{ 10/ 12
5 (mg1) < 0.1 < 0.1 0/ 2
139 # (mg,/1) 0.02 0.02 0/ 2
VAR=F: VN (mg,/1)
KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
rFv2A—1, 2=YZrpTF L (mg, /1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
B i (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 = ) —VEix (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
(mg,1) 0.15] < 0.05 ~ 0.15| 1/ 12
(mg1) 0.09[ < 0.05 ~ 0.13] 5/ 6
ZOfIEA AR Y R vk (mg,/1) 0.004| < 0.003 ~ 0.006| 3/ 12
TOC* (mg1) 1.0 0.6 ~ L4 6/ 6
ol (%) 3| < 1~ 8| 14/ 12 2 1~ 112/ 12 6 1~ 27| 6/ 6
BRAGE R (ms/m) 1.1 3.2 ~ 1.9/ 12/ 12 3.9 3.0 ~ 1.9 12/ 12 1.5 3.7 ~ 5.4 6/ 6
ClAFr* (mg,1) 1 1~ 3[12/ 12
a7 gvak (pg/1) 5] < 1~ 13[ 10/ 12
S AT R i B Ao (f#,/100m1) 61 20 ~ 110| 6/ 6
FEA A SR TS A (mg,/1)
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HEHAA [ EhVE (AA) A LRI (A) A A i (A)

HEFH BEfE 22 Ji /M~ g KA m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R m/n
p 7.4 7.1 ~ 7.7 0/ 12 7.5 7.3 ~ 7.6] 0/ 6 7.5 7.3 ~ 7.6| 0/ 6
DO (mg,/1) 12 8.0 ~ 15 0/ 12 11 9.0 ~ 14| 0/ 6 11 9.6 ~ 12 0/ 6
BOD (mg1) 0.6 0.5 ~ Lol 0/ 12 0.7 0.5 ~ 1.o] 0/ 6 0.7 < 0.5 ~ Lol 0/ 6
BOD (F B 2 75%() 0.6 0.9 0.8
COD (mg,/1) 1.1 0.6 ~ L8[ 0/ 12 1.9 1.0 ~ 2.8 0/ 6 1.5 11~ 1.9 0/ 6

ATREREEEA GU)ID [S S (mg,/1) 2 1~ 9| 0o/ 12 1] < 1~ 2[ 0/ 6 2| < 1~ 3l 0/ 6
NS (MPN,/100m1) 1. 503 1. 3802 ~ 1.9803[ 12/ 12 5. 0E03 3.3E02 ~ 1.3E04| 4/ 6 6. 1E03 3. 3802 ~ L7E04[ 1/ 6
n —~F Y Ul R (mg,/1)

A2 Fx (mg,/1) 0.38 0.23 ~ 0.69] 4/ 4 0.79 0.57 ~ Lol 1/ 4 0. 56 0.28 ~ 0.91 4/ 4
N (mg,1) 0.033 0.004 ~ 0.082 4/ 4 0. 048 0.038 ~ 0.071| 4/ 4 0. 036 0.018 ~ 0.059| 4/ 4
Al (mg,/1) 0. 004 0.001 ~ 0.010| 0/ 4 0. 007 0.002 ~ 0.017| 0/ 4 0. 002 0.001 ~ 0.003| 0/ 4
HEIT A (mg,/1)
BTV (mg1)
§ (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
AP (mg,/1)
Tt (mg/1)]| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
HKER (mg,/1)
TF KR (mg,/'1)
PCB (mg1)
vrau gy (mg,/1) < 0.002 < 0.002 0/ 2
DUSiAL R (mg,/1) < 0.0002 <0. 0002 0/ 2
1, 2—Ys/npxyy (mg,/1) < 0.0004 <0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1) < 0.002 < 0.002 0/ 2
vA—1, 2—Y/uuxFLy (mg,/1) < 0.004 < 0.004 0/ 2
e H 1, 1, 1—h)yppxzyy (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2— kY Zpo=zgy (mg,/1) < 0.0006 <0. 0006 0/ 2
F)smBaTzFLr (mg1) < 0,002 < 0.002 0/ 2
FhI/unxFLo (mg,/1) < 0.0005 <0. 0005 0/ 2
1, 3—Y/unra~y (mg,/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0.0002 0/ 2| < 0.0002 <0.0002 0/ 2
FUT N (mg/1)| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
ey (mg,1)| < 0.0003 <0. 0003 0/ 2| < 0.0003 <€0.0003 0/ 2| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/ 1| < 0.002 < 0.002 0/ 2| < 0,002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
NPy (mg1)
L (mg,/1)
A 28 R % OV R A 28 (mg,/1)
R 4 (mg/1)
SoFk (mg,/1)
129 # (mg,/1)
VAR=F: VN (mg,/1)
KA EGEHHA | 7=/ —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
A Y FYFA (mg/1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
Y uLRA (DDVP) (mg,1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
= (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Hike= 1% /) v— (mg,/1) <0. 0002 0/ 1
Tvspmk FYr (ug/1 < 0.04 0/ 1
1, A=VF x4 (mg,/1) < 0.005 0/ 1
ER (mg1) < 0.02 0/ 1
vy (mg,/1) <0. 0002 0/ 1
7z ) — V% (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T =T M Hex (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
ol (%) 1 1~ 14| 5/ 12 1] < 1~ 2| 3/ 6 2| < 1~ 1 1/ 6
BRAGEE (ms/m) 3.7 2.9 ~ 1.4 12/ 12 5.7 5.2 ~ 6.0 6/ 6 5.2 1.7 ~ 5.6| 6/ 6
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
A A FE TS A (mg,/1)
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Wlig [HE) GME)
HEHA BRI S A (BTN (A)

HEFH HE A S Jie/ME~ T K E m/n -E) ME~ TR TE n/n SEE) JIMIE~ R T w/n
p 7.4 7.0 ~ 8.0 0/ 36
DO (mg,1) 9.2 0.7 ~ 12| 1/ 36
BOD (mg1) 0.7 < 0.5 ~ 2.6] 0/ 36
COD (mg,1) 1.4 0.7 ~ 3.3 2/ 36
COD (F B 75%fi) 1.7

AETEBRETEA (WD [S'S (mg/1) 3] < 1~ 45 2/ 36
RIB i RER (MPN,/100m1) 5. 1E03 7.8E00 ~ 19804 17/ 36
n —~F Y Ul R (mg,/1)

I Hx (g /1) 0.36 0.23 ~ 0.59| 36/ 36
B (mg,1) 0.012 0.005 ~ 0.055| 36/ 36
EiE (mg,/1)

HREIY A (mg/D| < 0.001 < 0.001 0/ 2
BTV (mg1) ND ND 0/ 2
8 (mg/1)| < 0.005 < 0.005 0/ 2
AN 7 (mg,/1)] < 0.04 < 0.04 0/ 2
Tt (mg,/1)| < 0.005 < 0.005 0/ 2
HKER (mg/1)| < 0.0005 <€0. 0005 0/ 2
T L LK (mg,/'1) ND ND 0/ 2
PCB (mg1) ND ND 0/ 2
CrunAsy (mg/D| < 0.002 < 0.002 0/ 2
VAL R (mg/1)| < 0.0002 <€0. 0002 0/ 2
1, 2—Ys/npxyy (mg/ D[ < 0.0004 <€0.0004 0/ 2
1, 1-YZpupxzFL v (mg,/1)| < 0.002 < 0.002 0/ 2
YA—1, 2—Y/uunxFLv (mg/D| < 0.004 < 0.004 0/ 2

e H 1, 1, 1—hY)rmpzyy (mg,/1)| < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsuapxsr (mg/ 1| < 0.0006 <€0.0006 0/ 2
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 0/ 2
FhrIsnnTFLy (mg/D| < 0.0005 <€0.0005 0/ 2
1, 3—Ysnusn~y g/ )| < 0.0002 <0. 0002 0/ 2
FUI A (mg/1)| < 0.0006 <0.0006 0/ 2
ey (mg/1)| < 0.0003 <0. 0003 0/ 2
FARYHNT (mg/D| < 0.002 < 0.002 0/ 2
NPy (mg/1)| < 0.001 < 0.001 0/ 2
Ly (mg/D| < 0.002 < 0.002 0/ 2
AL 28 R B OV R 28 3R (mg,/1) 0.24 0.10 ~ 0.44f 0/ 12
Al 2 (mg,/1) 0.005) < 0.002 ~ 0.030| 14/ 36
o (mg/1)| < 0.1 < 0.1 0/ 2
139 # g/ D] < 0.02 < 0.02 0/ 2
VAR=F: VN (mg,/1)

KAEEEERER (7 —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg,/'1)
HATV) (mg,/1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
A (A HE) (mg,1)
smrXr=,L (TPN) (mg,/1)
FuEP IR (mg/1)
EPN (mg1)
YruLRZ (DDVP) (mg/1)

HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
smai=fr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNVEEY T ~F UL (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg/1)
e (mg,/1)
vy (mg/1)
7 = ) — Kk (mg,/1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
R (mg,/1) 0.09] < 0.05 ~ 0.23] 4/ 36
DATHEE S Bx (mg,/1)

ZOfIEA AR Y R vk (mg,/1) 0.005) < 0.003 ~ 0.011| 13/ 36
TOC* (mg1) 0.7 < 0.5 ~ 1127/ 36
i () 2| < 1~ 22|35/ 36
BAUREE (ms/m) 7.1 5.7 ~ 77012/ 12
ClAArx* (mg,/'1)

JEET ) ak (ug/1) 4] < 1~ 28 10/ 36
S A A KB 1 B B (f#,100m1) 4| < 2 ~ 7| 2/ 4
A A o G PE A (mg,/1)
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(I3 ) GiiR)
HEH A |BES A (R (A)

HEFH HE A 22 Ji /M~ g KA m/n -E) s/ IME~ IR n/n 22 St/ ME~ e R m/n
p 7.1 6.5 ~ 7.71 0/ 18
DO (mg,1) 8.3 3.7 ~ 1| 14/ 18
BOD (mg1)

COD (mg,1) 1.3 0.8 ~ 2.0l 0/ 18
COD (F B 75%fi) 1.4
ATREREEEA GU)ID [S S (mg/1) 2| < 1~ w0f 1/ 18
NS (MPN,/100m1) 1. 7E01 2. 0E00 ~ 2.4802[ 0/ 6
n =% R (mg,/1)
s (mg,/1) 0. 28 0.24 ~ 0.31) 6/ 6
ékﬂ%* (mg,1) 0.007 0.005 ~ 0.009| 6/ 6
A (mg1) 0. 005 0.003 ~ 0.007| 0/ 2
(mg/1)
= (mg,/1)
# (mg,1)
AP (mg,/1)
(%3 (mg/1)
HKER (mg,/1)
TF KR (mg,/'1)
PCB (mg1)
D A=2=F 8 (mg/1)] < 0.002 < 0.002 0/ 1
DUSfA L5 (mg/1)| < 0.0002 <0. 0002 0/ 1
1, 2 sonxygy (mg/1)| < 0.0004 <€0.0004 0/ 1
1, 1-YZupxFLy (mg/1)| < 0.002 < 0.002 0/ 1
YA—1, 2—Y/uunxFLv (mg/1)| < 0.004 < 0.004 0/ 1
e H 1, 1, 1—h)yppxzyy (mg,/1)| < 0.0005 <0. 0005 0/ 1
1, 1, 2— kY Zpo=zgy (mg/1)| < 0.0006 <0. 0006 0/ 1
F)smBaTzFLr (mg/1)| < 0.002 < 0.002 0/ 1
Fh7/un=FL v (mg/1)] < 0.0005 <0. 0005 0/ 1
1, 3—Y/unra~y (mg/1)| < 0.0002 <0. 0002 0/ 1
FT A (mg,/'1)
P (mg,/1)
FARHNT (mg,/'1)
NPy (mg1) 0.001 0. 001 0/ 1
L (mg,/1)
T ARTEEE R R OV AR R R (mg,/1)
A A (mg/1)
o (mg/1)| < 0.1 <01 0/ 1
139 # (mg,/1) 0.10 0.10 0/ 1
VAR=F: VN (mg,/1)
KA EGEHHA | 7=/ —1 (mg/1)
RNV LT VT E R (mg,/1)
VA=R=F: VN (mg,/'1)
FIUA—1, 2—V/nRrTFL (mg,/1)
1, 2—YZuarasy (mg,/1)
p—Yrmupxr¥r (mg,1)
AV FYFA (mg,/'1)
HATV) (mg1)
Zxz=haFtr (MEP) (mg/1)
A TaFET (mg,/1)
AR 8 (F ) (mg,1)
smrXr=,L (TPN) (mg,/1)
FaEYFI N (mg,1)
EPN (mg1)
Y uLRA (DDVP) (mg/1)
HEECHIH T =) THNT (BPMC) (mg1)
A 7u~_RA (1BP) (mg,1)
san=tr7=xr (CNP) * (mg1)
iz (mg,/1)
FoLy (mg,/1)
T HNEY =T L ~F L (mg/1)
= b (mg,/1)
EYTT (mg/1)
TUFEY (mg1)
Wit =1r% /) ~v— (mg,/1)
TEsmBEE )Y (ug/1)
1, A=VFF Yo (mg,1)
e (mg,/1)
vy (mg/1)
7 = ) — Kk (mg1)
Hilx (mg/1)
B (ARbE) * (mg,/1)
~ U (HRPE) * (mg,/'1)
VAP (mg,/1)
T ES (mg/1)
AT R R (mg,/1)
ZOfIEA AR Y CEEREY vk (mg/1)
TOCH (mg,/1)
) ()
BRI Fx (ms/m)
ClAArx* (mg,/'1)
VA= Py FE] (ug/l)
S A A KB 1 B B (f#,100m1)
A A FE TS A (mg,/1)




